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Verbal Abil

Instructions
Read the passage carefully and answer the following questnons

NOT everything looks lovelier the longer and closer its |(| pection. But Saturn does. It is gorgeous through Earthly telescopes. However,
the 13 years of close observation prowded assini, a merican spacecraft, showed the planet, its moons and its remarkable rings off
better and better, revealing finer structures, st \gsno\ve nd’gﬁa?i’ter drama. .

By and large the big things in the solar system— pIanefsandm\oons are thought of as having been around since the beginning. The
suggestion that rings and moons are new is, though, made éveﬁ)more interesting by the fact that one of those moons, Enceladus, is
widely considered the most promising site nytbe solar system on which to look for alien life. If Enceladus is both young and bears life,
that life must have come into being quickl {This is also believed to have been the case on Earth. Were it true on Enceladus, that would
encourage the idea that life evolves easil v(/’hen condltlop? are right.

One reason for thinking Saturn’s rings are o g is tha jey are bright. The solar system is suffused with comet dust, and comet dust is
dark. Leaving Saturn’s ring system (which Cas«sml‘ﬁa_,s hown to be more than 90% water ice) out in such a mist is like leaving laundry
hanging on a line downwind from a smokestack: it will get dirty. The lighter the rings are, the faster this will happen, for the less mass
they contain, the less celestial pollu%ian they can absorb before they start to discolour. . . . Jeff Cuzzi, a scientist at America’s space
agency, NASA, who helped run ‘tdthe Lunar and Planetary Science Conference in Houston that combining the mass estimates
with Cassini’'s measurements/ qf the nsny fcomet-dust near Saturn suggests the rings are no older than the first dinosaurs, nor
younger than the last of them— thatt they je somewhere between 200m and 70m years old.

That timing fits well with a theory put* Wd in 2016, by Matija Cuk of the SETI Institute, in California and his colleagues. They suggest
that at around the same fime as the rings came into being an old set of moons orbiting Saturn destroyed themselves, and from their
remains emerged no, 'thhe rings but also the planet’s current suite of inner moons—Rhea, Dione, Tethys, Enceladus and Mimas. . . .

Dr Cuk and his colleagues édgomputer simulations of Saturn’s moons’ orbits as a sort of time machine. Looking at the rate at which
tidal friction is causing these orbits to lengthen they extrapolated backwards to find out what those orbits would have looked like in the
past. They d|§cpvered that about 100m years ago the orbits of two of them, Tethys and Dione, would have interacted in a way that left the
planes in which they orbit markedly tilted. But their orbits are untitled. The obvious, if unsettling, conclusion was that this interaction
never happ n(ed—and thus}f_ﬂat at the time when it should have happened, Dione and Tethys were simply not there. They must have come
into being later. '

REE / /
Question 1 kj/

Based on information provided in the passage, we can infer that, in addition to water ice, Saturn’s rings might also have small amounts
of:

A methane and rock particles.

B helium and methane.

C helium and comet dust.
D rock particles and comet dust.
Answer: D

Explanation:

In the fourth paragraph, it is mentioned that "they suggest that at areund the same time as the rings came into being an old set of moons
orbiting Saturn destroyed themselves, and from their remains emeé%el only the rings......". From this, we can infer that the rings were
formed from the moons. Also, from the third paragraph, it can be inferre }%turn's rings consist of comet dust.

Hence, option D is the correct answer. \ ~
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Question 2 Q
Based on information provided in the passage, Xm& f the following EXCEPT:
\

A none of Saturn’s moons ever had suitable conditions foho evolve.

V.
Ly
L

B Thethys and Dione are less than 100 i!ﬁon years old.
\ [l
\ 4/
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¢ Saturn’s lighter rings discolour faster th\anreater mass.

D Saturn’s rings were created from the remains of older moons.

Answer: A / 7 ) /\\\ N
= / ( ))“
Explanation: /

In the last paragraph, it is given that"aQ_/‘l/f)Om years ago, Thethys and Dione were not there. From the last line of the passage we can
conclude that Thethys éﬁd Dione are less than 100 million years old. Option B can be concluded.

In the third paragraph, it is mentioned "The lighter the rings are, the faster this will happen". Option C can be concluded.

From the fourth paraMtlon D can be concluded.

Sufficient information has \beep provided from which we can conclude that none of Saturn’s moons ever had suitable conditions for
life to evolve. B ~

Hence, optiom;A,r'fs the correct answer.

s

Question 3 ( (

\ .
The phrase éaﬂng |aL’Ipt!,P§' hanging on a line downwind from a smokestack” is used to explain how the ringed planet's:

I/
A rings lose mass over time.
B rings discolour and darken over time.

C moons create a gap between the rings.

D atmosphere absorbs comet dust. . j"“/\k

Answer: B <\ >
Explanation: / .
The phrase explains how clothes would darken over time if left hangling and fac tack. The phrase refers to the darkening of the
Saturn's rings under the influence of comet dust.
Hence, option B is the correct answer. \_,\ =
Question 4 ,

I
Data provided by Cassini challenged the assumption that: \ -
'\ \;

7
A new celestial bodies can form from the destruction of oId%eJ‘eskl bodle}

B all big things in the solar system have been around since the beglnnlng

4

C there was life on earth when Saturn’s ringwere beil\\ formed.

= ==

=
D Saturn’s ring system is composed mostly of wa?‘er\uex

~ \
Answer: B ~0

Explanation:

Referring to the first paragraph and first few lines of the $§cond paragraph, it was believed that the celestial bodies had been existing
from the beginning. However, the data provlg@ by Cassgini gave an insight that the rings and moons of Saturn are newly created. Thus, it
challenged the earlier held notion. /](

Hence, option B is the correct answer.

/ T '}'/ake?ffree CAT Mocks (With Solutions)

Question 5
'\

The main objective of T’h? passage is

\
AN
A highlight the beaw structures and celestial drama of Saturn’s rings and moons.

.f’
B establish that Saturn’s rings and inner moons have been around since the beginning of time.
& 5
£ ,/
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c Pprovide Hidence that Saturn’s rings and moons are recent creations.
\ F4

N\ /
D demonsWrbital patterns of Saturn’s rings and moons change over time.

Answer: C

Explanation:
Refer to the lines from the passage - "The suggestion that rings and moons are new jis," "One reason for thinking Saturn’s rings are young
is that they are bright.", "Cassini’s measurements of the density of comet-dust nea/S turn suggests the rings are no older than the first
dinosaurs, nor younger than the last of them."

Throughout the passage, the author has emphasized on the fact that the rings and

em f Saturn are recent phenomena. Option C

moons and the rings of Saturn.

Option B is factually wrong as per the information given in the passag
Option D is out of context.

Hence, option C is the correct answer.

Instructions

Read the passage carefully and answer the questions given

is the most relevant in this context. /
Option A is not the primary objective of the passage otherwise the au'?{r uld not ha(v detai the timeline of the formation of the

More and more companies, government agencies, educational mstltutlo hilanthropic organisations are today in the grip of a new
phenomenon: ‘metric fixation’. The key components of metric fixation are th ief that it is possible - and desirable - to replace
professional judgment (acquired through personal experienc numerical indicators of comparative performance based
upon standardised data (metrics); and that the best way to motiva ithin these organisations is by attaching rewards and
penalties to their measured performance.

surgical report cards and so on. But the mo ative of metric fixation is its propensity to incentivise gaming: that is
encouraging professionals to maximise the met wwﬁ odds with the larger purpose of the organisation. If the rate of
major crimes in a district becomes the metric according-to which police officers are promoted, then some officers will respond by simply
not recording crimes or downgrading them from major offencesto misdemeanours. Or take the case of surgeons. When the metrics of
success and failure are made public - affectu’@thelr reputation and income - some surgeons will improve their metric scores by refusing
to operate on patients with more complex foblems whose surgical outcomes are more likely to be negative. Who suffers? The patients
who don't get operated upon. n

The rewards can be monetary, in the form of pay for pe}f rmance, say, or reputational, in the form of college rankings, hospital ratings,
ri

When reward is tied to measured performa ée,\metrlc ﬁ/atlon invites just this sort of gaming. But metric fixation also leads to a variety of
more subtle unintended negative consequences. These include goal displacement, which comes in many varieties: when performance is
judged by a few measures, and the stakes are high (keeping one’s job, getting a pay rise or raising the stock price at the time that stock
options are vested), people focu on*sa\'\sfying those measures - often at the expense of other, more important organisational goals that
are not measured. The best-k @/mp\ek s ‘teaching to the test’, a widespread phenomenon that has distorted primary and secondary
education in the United Staterlnce/’(he adaption of the No Child Left Behind Act of 2001.

Short-termism is another negative. Mleasu;é performance encourages what the US sociologist Robert K Merton in 1936 called ‘the
imperious immediacy o glnterests . Whe he actor’s paramount concern with the foreseen immediate consequences excludes
consideration of furthel Zr other consequences’. In short, advancing short-term goals at the expense of long-range considerations. This
problem is endemic u@llcly traded corporations that sacrifice long-term research and development, and the development of their
staff, to the perceived i ratLyes of the quarterly report.

Question 6 \'\"

o
A

All of the fo?é |ng can be a possible feature of the No Child Left Behind Act of 2001, EXCEPT:
A school fh@m\g and/sa’/;xf:tions are tied to yearly improvement shown on tests.
-

e

B standardised test scores can be critical in determining a student’s educational future.
C assessment is dependent on the teacher's subjective evaluation of students' class participation.

D the focus is more on test-taking skills than on higher order thinking and problg):r{'

Answer: C /

Explanation:
The author has criticized the No Child Left Behind Act of 2001. So, it shoul inst'what the'author has supported in the passage. We
know that the author has been critical of metric fixation. Therefore, the N hle Left B EﬁhdAc‘t of 2001 must have the features of metric
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fixation.

Option C cannot be a feature of the No Child Left Behind Act of 2001 r&@e s Jectlve evaluation of students based on their
participation in the class which is against the theory of metric flxatlon

Hence, option C is the correct answer.

Question 7 &

~

What main point does the author want to convey through the examples of.the police officer and the surgeon?

T~

A Some professionals are likely to be significantly influenced W‘thg

i

f performance measurement systems.

B Metrics-linked rewards may encourage unethical behaviour among some professionals.

ormance measures.

D The actions of police officers and surgeons have a si Tﬁcgtly impact on society.

Answer: B ) 5

Explanation: / )
In the second paragraph, the author discu Wthe major drawbacks of metric fixation is the rise in unethical behaviour in
order to maximize the metrics. The author, r 's’‘on to give the examples of the police officer and the surgeon to substantiate his
claims. Therefore, option B is the correct answer.
Option A does not mention that the influence would be unethical and harmful in nature.
Option C is the underlying mes?a/ge-o\ author but, he does not explicitly provide the examples of the police officer and the surgeon to
prove this. f'\ S
Option D is too broad and haé-lﬁo spéyflflcs %Tut the unethical behaviour which could be encouraged by metric fixation.

\
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Question 8

Which of the foIIommnsequence of the 'metric fixation' phenomenon mentioned in the passage?

£ /
Finding d(\/ay to show better results without actually improving performance.
,| 1

>

Improvin "ew,émong employees leading to increased organisational effectiveness in the long run.

=7
Deviating from organisationally important objectives to measurable yet less important objectives.

o

D Short-term orientation induced by frequent measurement of performance.

Answer: B )
/

Explanation:
From the second paragraph, we can say that metric fixation encourages professwn Ist ize the metrics in ways that are at odds
with the larger purpose of the organization. Option A is a consequence tric fixati I—l/

From the third paragraph, we can infer that metric fixation leads to goa d| acel ent. \
The author has stated short-termism as a consequence of metric fixation in/t

Option B as a consequence of metric fixation has not been dlscussed int para
Hence, option B is the correct answer.

Question 9

Of the following, which would have added the least depth to the author’s argun}gn

-.,

‘\

\

A Assessment of the pros and cons of a professional Judgment based evii n system.

B An analysis of the reasons why metrics fixation is becomlngp\pular e its drawbacks.

C A comparative case study of metrics- and non-metrigs-based evaluatlon, and its impact on the main goals of an organisation.

\

D More real-life illustrations of the conseq@ee&m* onee§_gr_1g/profe33|onals gaming metrics-based performance measurement
systems. <

s
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Answer: D 2.

Explanation: _,-’:)

In the passage, the author has discussed € ill-effects of metric fixation. He has discussed gaming of the metrics-based performance
system in detail. By providing more real-lifelillustrations o’f}the same, the author would not have added any value to the main argument.
Options A, B and C are relevant to the disc ésgn and wi(ysurely add weight to the main idea of the passage.

Hence, option D is the correct answer. ~

e ——

Question 10

T,
What is the main idea that the /{}lthm;;is;‘t_\rg__i‘ng to highlight in the passage?
f rd : ‘xh_“

U / .'ff \) ~

A Performance measurement neeQ&:to bejzjrecise and cost-effective to be useful for evaluating organisational performance.

-

o

B Evaluating performéﬁce by using measurable performance metrics may misguide organisational goal achievement.
N\

il
C Long-term organg@alggals should not be ignored for short-term measures of organisational success.

“""-\ \"‘\.
D Allkinds of grganisations a?e\'fow relying on metrics to measure performance and to give rewards and punishments.
Answer: B(' 4
I'

Explanation:, “'\_\ / /

The author hz}s\cimye/fﬁe method of metric fixation in the passage. He has stated that metric fixation will lead professionals to adhere
to practices that are at odds with the larger purpose of the organization. He has also explained that metric fixation will lead to goal
displacement. In this light, option B is the most relevant.

Option A is incorrect because it is against the author's view.

Option C is narrow as it focuses on short-termism only which is one of the ill-effects of metric fixation as mentioned in the passage.
Option D does not state that the author is criticizing the metric fixation method to/mér sure the performance.

Hence, option B is the correct answer. //
. A e
Free CAT Preparatlo/'n |d?5 Lectu
Instructions 7 ) >~
MY =
Read the passage carefully and answer the questions given | / N

Will a day come when India’s poor can access government services a(s/e}I ai awin sh from an ATM? . . . [N]o country in the world
has made accessing education or health or policing or dispute resolution l@*&sy TM, because the nature of these activities
requires individuals to use their discretion in a positive way. Technology can ceﬁz'a;;;facilitate this in a variety of ways if it is seen as one
part of an overall approach, but the evidence so far in education, fo(ithance, is that just adding computers alone doesn’t make

~

education any better. . . . U

).

ountability of service providers in implementation-
t electronic management information systems (EMIS)
keep better track of inputs and those aspects of personnel that are MS ible’ can lead to better services. A recent study examined
attempts to increase attendance of Auxiliary Nurse Midwife (ANMs) at clinics in Rajasthan, which involved high-tech time clocks to
monitor attendance. The study’s title says it all: Band-A(a§ on a Corpse . . . e-governance can be just as bad as any other governance
when the real issue is people and their motivation. \
For services to improve, the people providing t ice \havg‘ﬁ),jaﬁ to do a better job with the skills they have. A study of medical
care in Delhi found that even though providers, in the\pu\é,gector had much better skills than private sector providers their provision of
care in actual practice was much worse. R

In implementation-intensive services the key/fb success is face-to-face interactions between a teacher, a nurse, a policeman, an

extension agent and a citizen. This relatio éﬁip is about power. Amartya Sen’s . . . report on education in West Bengal had a supremely

telling anecdote in which the villagers fon{e‘d the teacherjtp attend school, but then, when the parents went off to work, the teacher did not

teach, but forced the children to massage l'{ feet. ... 5é/l'ong as the system empowers providers over citizens, technology is irrelevant.
A

The answer to successfully providing basic Services is to create systems that provide both autonomy and accountability. In basic
education for instance, the answer to poor teaching is not controlling teachers more . .. The key . . . is to hire teachers who want to teach
and let them teach, expressing their professionalism and vocation as a teacher through autonomy in the classroom. This autonomy has
to be matched with accountatﬁ{y fcﬁes‘ﬁ\hs:not just narrowly measured through test scores, but broadly for the quality of the education
they provide. ] /” \

A recent study in Uttar Pradesh sho{'(eq»tba‘y f, somehow, all civil service teachers could be replaced with contract teachers, the state
could save a billion dol!{a{s a year in revente and double student learning. Just the additional autonomy and accountability of contracts
4
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through local groups—'gv:'en without complementary system changes in information and empowerment—led to that much improvement.
The first step to beiWhe solution is to create performance information accessible to those outside of the government. . . .
s

According to t}lg author, service delivery in Indian education can be improved in all of the following ways EXCEPT through:
£7

Question 11

A access \j\nformation ;5)‘1 the quality of teaching.
\ /

4
B elimination of-government involvement.
C recruitment of motivated teachers.

D use of technology.

Answer: B //
P
/

—_—

Explanation: g

In the last line of the passage, the author mentions about the availability of/i
4
s

In the penultimate paragraph, the author says that the key is to hire those vant to teach. In other words, the author
supports the recruitment of motivated teachers.
In the first paragraph, the author states that technology can facilitate/l;ett

///’ o~
infor tion{{@hich %}uld be the first step towards solving
the service delivery in the Indian education system. W b
achers wh
G
The author has nowhere talked about the elimination of government \fﬁvol\/kr_n W
3____

in Indian education.

e s that the autonomy and accountability of the
teachers should be increased. )

Hence, option B is the correct answer. -

&

-\‘-\.

Question 12 .
e
In the context of the passage, we can infer that the title "Ban(d{ids ona C(?TJ' (in paragraph 2) suggests that:

~
1\\___ b

A the nurses attended the clinics, but the clinics were ill-equipped. ‘“"‘-/

F
B the clinics were better funded, but perfor(pr@nce mo\*ring did not result in any improvement.
\\ '_’____..—'—':-"':7
C the nurses who attended the clinics were too\ffeor ﬁai\ﬁetﬁb" provide appropriate medical care.
.
D the electronic monitoring system was a superficial solution o a serious problem.
Answer: D ’//>

Explanation: \, n

The author has explained the phrase “Band \Id&(&a/ pse” by stating that " e-governance can be just as bad as any other governance
when the real issue is people and their motiveﬁibn%From this, we can infer that the solution was not intended to tackle the real cause of
the problem which was the motivation of the people. If people are not motivated, forcing them to come on time will act only as a
specious way to deal with the i

Hence, option D is the corretht‘?swepf/\\“\

Question 13 g l/ ,'/ /)T/

h
The author questions the use of mo\h

clients because such q@tems:

l@mg/systems in services that involve face-to-face interaction between service providers and

>

-f"\\\':\. \
AN
.
do not improve service \ha{@ed committed service providers.
y

are ineffeptf}e because they are managed by the government.
&
{

improve(tbe skills but ?ﬁ,-‘not increase the motivation of service providers.

o

\ /

are not as W he public sector as they are in the private sector.
Answer: A

o

Explanation:
In the third paragraph, the author has given the example of a school where the villagers forced the teachers to come to school, but the
teacher instead of teaching indulged in various other non-productive activities. Fu;th/qf, the author also mentions that as long as the
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system empowers providers over citizens, technology is irrelevant.
So, the author wants to convey that commitment and motivation are the primary
chn

requirements.in systems which involve face-to-
face interaction between service providers and clients. Therefore, using logy to ry(/orriw such scenarios will be ineffective.
| \)
\
4

Hence, option A is the correct answer.
P
Free CAT Exam r@ pPp
Question 14 /\\/\

The main purpose of the passage is to:

VvV

A argue that some types of services can be improved by providing iﬁaép hd%:e and requiring accountability.

B analyse the shortcomings of government-appointed nursé\s\and their management through technology.
C critique the government’s involvement in educational activities and other implementation-intensive services.
D

find a solution to the problem of poor se%ce deIiverQ\/ in education by examining different strategies.

Answer: A \ \ == ==
\ {
\\
Explanation: S

The author has explained in the passage thatWithout increasing the autonomy and accountability of the person involved in a job,

monitoring systems will be ineffective in iQ:oving the services. So, the author has advocated for making the persons more responsible

4
\

and give them more independence. Option A is the most f?levant in this context.

Option B is narrow in the sense that the passage does 96 only focus on the case of nurses.

Option C is irrelevant as the author does no i) icize-the involvement of government.

Option D is incorrect because the author is not trying to find a solution, but he has proposed a solution to deal with the problem.
Hence, option A is the correct answer.

,~—--,\
Question 15 ﬁ/’_‘?/\‘:._.‘\
[ N
Which of the following, IF TRME, wq‘:ll{d und’ejﬁ{ine the passage’s main argument?
\-\._\_ /
&7

If it were proven th?’t}ncrease in autonomy of service providers leads to an exponential increase in their work ethic and sense of
responsibility. \\

&3\
B If it were proven trmts\ervitq\ep[oviders in the private sector have better skills than those in the public sector.
~

40
Cc Empowe(pr),eﬁt of service providers leads to increased complacency and rigged performance results.

i
D If absolt(t% instead of r}ﬂ'{n‘derate technological surveillance is exercised over the performance of service providers.
\ .Ifl

N
Answer: C . J,/
N
Explanation:
The author has argued in the passage and proposed some ways to increase productivity and to make the systems more effective. Option
C which states "Empowerment of service providers leads to increased complacency and rigged performance results.” will undermine the

author's main argument because if empowerment of the service providers eads7ed performance results, the whole purpose will be

defeated.

Option A supports the passage's main idea.

Option B is irrelevant. Pz

Option D does not talk about the effect of implementing absolute surveillance on the pé@ of service providers.
Hence, option C is the correct answer. > g

Instructions o

o~
Read the passage carefully and answer the questions given //\ \gg
Grove snails as a whole are distributed all over Europe, but a specific vari%q—)(_ € sne ith a distinctive white-lipped shell, is found
exclusively in Ireland and in the Pyrenees mountains that lie on the border betw erﬁFrance and Spain. The researchers sampled a total of
423 snail specimens from 36 sites distributed across Europe, with Eannszhasis on gathering large numbers of the white-lipped variety.
When they sequenced genes from the mitochondrial DNA of each o Thg snails and used algorithms to analyze the genetic diversity

between them, they found that. . . a distinct lineage (the snails with the white- i ed shells) was indeed endemic to the two very specific
and distant places in question. & \
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Explaining this is tricky. Previously, some had speculated that fﬁe\@%ﬁibutions of creatures such as the white-lipped grove snails
could be explained by convergent evolution—in which two populatioﬁ e the same trait by coincidence—but the underlying genetic

similarities between the two groups rules that out. Alternately, some scientists had suggested that the white-lipped variety had simply
spread over the whole continent, then been wiped out everywhere besides Ireland and the Pyrenees, but the researchers say their
sampling and subsequent DNA analysis eliminate.that possibilit -'If the snails naturally colonized Ireland, you would expect to find
some of the same genetic type in other areas of specially Britain. We just don’t find them,” Davidson, the lead author, said in a
press statement. ‘

Moreover, if they'd gradually spread across the continent, there would be some genetic variation within the white-lipped type, because
evolution would introduce variety over the thésands of years it would have taken them to spread from the Pyrenees to Ireland. That
variation doesn't exist, at least in the gen /’sampled. This means that rather than the organism gradually expanding its range, large
populations instead were somehow move! '\en mass to the other location within the space of a few dozen generations, ensuring a lack of

genetic variety. \_//

“There is a very clear pattern, which is difficult to explain except by involving humans,” Davidson said. Humans, after all, colonized Ireland
roughly 9,000 years ago, and the oldest fossil evidence of grove snails in Ireland dates to roughly the same era. Additionally, there is
archaeological evidence of earl /\ade\between the ancient peoples of Spain and Ireland via the Atlantic and even evidence that
humans routinely ate these tyéé{s of p’ﬁb@‘é‘f@;e the advent of agriculture, as their burnt shells have been found in Stone Age trash

{
L\

A\ V.
The simplest explanation, then? Boats:Fhése snails may have inadvertently traveled on the floor of the small, coast-hugging skiffs these
early humans used for travel, or they may have been intentionally carried to Ireland by the seafarers as a food source. “The highways of
the past were rivers an'd'-;he ocean-as the river that flanks the Pyrenees was an ancient trade route to the Atlantic, what we're actually
seeing might be the \I’agtlng legacy of snails that hitched a ride...as humans travelled from the South of France to Ireland 8,000 years

heaps.

ago,” Davidson said. k

7

Question 16 -,

Y 4

The passag¢ ()utlines several hypotheses and evidence related to white-lipped grove snails to arrive at the most convincing explanation
for: |

\

A why the white-lipped variety of grove snails are found only in Ireland and the Pyrenees.
B why the white-lipped variety of grove snails were wiped out everywhere except in Ireland and the Pyrenees.

C how the white-lipped variety of grove snails might have migrated from the Pyre/me"s to Ireland.

D how the white-lipped variety of grove snails independently evolved in IreI d and/the Pyrenees.

Answer: A

(

Explanation: ) :

Throughout the passage, the author has contemplated the reasons why t ey/h/te)tppe varlety of grove snails are found only in Ireland
and the Pyrenees. This is also evident from the last line of the first pz7ragr ph irst ling,of the second paragraph and the first line of
the fourth paragraph.
The author has not discussed the reasons why the snails were wiped out fer\ arts of the world. Option B is incorrect.
The author has focused neither on migration nor on the evolution of the snails. b\pg n C and D are irrelevant.

Hence, option A is the correct answer. Cf‘\ i

CAT FormuIagPDF [Dé\yﬁload Now]

Question 17

In paragraph 4, the evidence that “humans routinely atg these types of snalls before the advent of agriculture” can be used to conclude

that: \

white-lipped grove snails may have madvertently‘l‘sa\\?éIéd from the Pyrenees to Ireland on the floor of the small, coast-hugging skiffs
that early seafarers used for travel. \:‘}‘?

P
B 9,000 years ago, during the Stone Age, | l}n>1ans traveled from the South of France to Ireland via the Atlantic Ocean.

C rivers and oceans in the Stone Age fa |I\tated trade in white- lipped grove snails.

D the seafarers who traveled from the Pyreheééﬂflr land might have carried white-lipped grove snails with them as edibles.
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Answer: D —

—— \“\,‘
»‘/ /r.-‘\:\"\
Explanation: ] \ o7
In the fourth paragraph, the author states t 1 the appearance of grove snails and the arrival of humans in Ireland coincided. Further, the

author proves his point by mentlonlﬁg\@{the evidence that humans routinely ate these types of snails before the advent of agriculture.
From this, we can inferl/t[)at people who came to colonize Ireland must have brought snails with them as edibles. Option D is the most
relevant in this context) |

Options B and C are &('ST*«Qontext.
Option A might be factual EMEt it cannot be concluded from the given sentence.
Hence, option D is the correct answer.
./\.
Question 18 f’;//

Which one f(the following'makes the author eliminate convergent evolution as a probable explanation for why white-lipped grove
snails are found in Ireland and the Pyrenees?

A The coincidental evolution of similar traits (white-lipped shell) in the grove snails of Ireland and the Pyrenees.

B The absence of genetic variation between white-lipped grove snails of Ireland and the Pyrenees.

c The absence of genetic similarities between white-lipped grove snails of Ireland and snails from other parts of Europe, especially
Britain. /
a

=
D Thedistinct lineage of white-lipped grove snails found specifically in/lreland thfé@ .
Answer: B > /
———r
Explanation: /
In the second paragraph, the author mentions convergent evolution iéﬂﬁl\' opulations evolve the same trait by coincidence. In that

case, if the traits are similar by mere coincidence, the genetic structure must-be di as they are part of two distinct populations.
However, in the study, it was found that the two groups of snails have genetic similarities and thus, it cannot be a case of convergent

evolution. Option B states the same. C
Hence, option B is the correct answer. k

Question 19 B

All of the following evidence supports the passage’s explana%ion\ ea trayel/trade EXCEPT:

~——

A the oldest fossil evidence of white-lipped grove snafIP in Ireland dates back to roughly 9,000 years ago, the time when humans
colonised Ireland. Q

B archaeological evidence of early sea trade bmﬁﬁaent peoples of Spain and Ireland via the Atlantic Ocean.

F
£

C absence of genetic variation within the wt}gte-lipped grove snails of Ireland and the Pyrenees, whose genes were sampled.

s //‘

the coincidental existence of similar tr, j/ts in the white-lipped grove snails of Ireland and the Pyrenees because of convergent
evolution.

[]
Answer: D \\uv//

Explanation:

In the second paragraph, the amﬁo_ns convergent evolution in which two populations evolve the same trait by coincidence. In that
case, if the traits are similar by mere é ’F\Eid‘e e, the genetic structure must be different as they are part of two distinct populations.
However, in the study, it was found that the) o groups of snails have genetic similarities and thus, it cannot be a case of convergent
evolution. Thus, the author refutes the.claimthat convergent evolution can explain the similarity in characteristics. Therefore, option C
supports the passage's/e)xplanation oT‘sea%avel/trade while option D rejects.

Hence, option D is the ¢orrect answer.

N\
\
xﬁrpp-soo Free CAT Questions (With Solutions)

AN

Instructions
Read the paégage carefull)mnd answer the given questions
\. | I_|
The compleki@-.qf mode;ri/ﬁroblems often precludes any one person from fully understanding them. Factors contributing to rising obesity
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levels, for exaRtplEEfﬂ:d’e transportation systems and infrastructure, media, convenience foods, changing social norms, human biology
and psychological factors. . . . The multidimensional or layered character of complex problems also undermines the principle of
meritocracy: the idea that the ‘best person’ should be hired. There is no best person. When putting together an oncological research
team, a biotech company such as Gilead or Genentech would not construct a multiple-choice test and hire the top scorers, or hire people
whose resumes score highest according to some performance criteria. Instead, they would seek diversity. They would build a team of
people who bring diverse knowledge bases, tools and analytic skills. . . . y~

Believers in a meritocracy might grant that teams ought to be diverse but then/rgu that meritocratic principles should apply within each
category. Thus the team should consist of the ‘best’ mathematicians, the ‘best’ onc Iogl/sts‘aﬁﬂthe ‘best’ biostatisticians from within the
pool. That position suffers from a similar flaw. Even with a knowledge d m in, no est cnterl pplied to individuals will produce the
best team. Each of these domains possesses such depth and breadth, that no te can\ |st Céilder the field of neuroscience. Upwards
of 50,000 papers were published last year coverlng various technlques do alps of en ryandfevels of analysis, ranging from molecules
a coIIectlon of neurosmentlsts from best to

of a particular team, one scientist would be more likely to contribute than le Optl
be diverse.

Evidence for this claim can be seen in the way that papers and patent\that com ne diverse ideas tend to rank as high-impact. It can
also be found in the structure of the so-called random decision forest; a‘state -of-the-art machine-learning algorithm. Random forests
consist of ensembles of decision trees. If classifying pictures, each tree m es vote: is that a picture of a fox or a dog? A weighted
majority rules. Random forests can serve many ends. They cazn\entlfy bank gaud and diseases, recommend ceiling fans and predict
online dating behaviour. When building a forest, you do not seIée'thbest trées as they tend to make similar classifications. You want
diversity. Programmers achieve that diversity by training each tree onc\iﬁf:ceﬁt data, a technique known as bagging. They also boost the
forest ‘cognitively’ by training trees on the hardest cases, - those that the current forest gets wrong. This ensures even more diversity and

accurate forests. \

| . cornSine. no Vb
Yet the fallacy of meritocracy persists. Corpo?aum- r ; rnments, universities and even preschools test, score and hire the
‘best’. This all but guarantees not creating the besttea\ﬁ?an‘l?’ng people by common criteria produces homogeneity. . . . That's not likely

to lead to breakthroughs. ~
W
Question 20 Py

Which of the following conditions, if true, ould invalidate the passage’s main argument?
\ /f7
A If it were proven that teams characteris Wend up being conflicted about problems and take a long time to arrive at a
solution. o

B If a new machine-learning a /_Mre developed that proved to be more effective than the random decision forest.
/ NG B
C If top-scorers possessed Hultld;é,élpllna)'yt(nowledge that enabled them to look at a problem from several perspectives.

4
D If assessment tests were made tensive and rigorous.

Answer: C

f\E
Explanation: \

Throughout the > passage, the aWr has argued that each field of study has become so vast that diversity in knowledge and skills is
required to sqrf,through Meritocracy is not enough to bring the required variety. This is the main idea presented by the author.
Option A is ?’ torted because the author is not concerned about the negative consequences of his proposition and how to deal with
them. f ,.t’ .-"

Option B is tao:narrow in,its scope as it focuses on random decision trees which is not the main idea.

Option C adwary concerns which the author has and thus, weakens the main idea of the passage.

Option D is irrelevant as the author has no problem with the assessment tests.

Hence, option C is the correct answer.

Question 21

Which of the following best describes the purpose of the example of neuroscien9e5

A Innarrow fields of knowledge, a meaningful assessment of expertise has alway, be ssible.

Unlike other fields of knowledge, neuroscience is an exceptionallyjé lex field, m ing a aningful assessment of neuroscientists

impossible. /
C Inthe modern age, every field of knowledge is so vast that a meaﬁ}q | ass&{men%f merit is impossible.
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Neuroscience is an advanced field of science because of its connections with ranches of science like oncology and
biostatistics.

Answer: C Q\\\
R g
Explanation: W
Just before giving the example of neuroscience, the author hwed that each of these domains possesses such depth and
breadth, that no test can exist. From this we can infer that the ;:l\p)s@ ind mentioning neuroscience as an example by the author is

to show that each field is so complex now that a meanlngful assessment of merit is impossible. Option C is the most relevant in this
case.

Hence, option C is the correct answer. Q \\
\ g

Question 22

The author critiques meritocracy for all the fp}lowing reasons}XCEPT that:
r//’.
A anideal team comprises of best indiv \eals from diy{ﬂse fields of knowledge.

diversity and context-specificity are impoﬁqﬁﬁgﬁ%ing major advances in any field.

(¢}

modern problems are multifaceted and require varied skill-sets to be solved.

—— \-‘
criteria designed to asses J.frnerlﬁrfe |ﬁ$L§§p|ent to test expertise in any field of knowledge.
|

o

Answer: A B\
=

Explanation: |/ 7
Option B is the main Ldéthat the author wants to express through the passage. So, it is one of the main reasons why the author criticizes
meritocracy. \\“«
Option C is also one of the ré“asé:nﬁ as conveyed by the author through the example of neuroscientists in the second paragraph.
The author mentions in the second paragraph "each of these domains possesses such depth and breadth, that no test can exist." From
this, we can i 6é? option D to be a valid reason.
Option A : The idea/term of |deal team'’ is not mentioned in the passage. Best team implies a team which gives the best possible
outcome, h \iever an |de }*eam can be understood as the model/perfect team. In order to critique ideal team, one needs to introduce
such an idea. \H\enciﬁc/aﬁ A is not a reason why the author criticizes meritocracy.
Hence, option Als orrect answer.

Free CAT Study Materlal

Question 23

Which of the following conditions would weaken the efficacy of a randon%n orest?

A If the types of decision trees in each ensemble of the forest were d
B If a large number of decision trees in the ensemble were trained on da r|ve easy cases.
C If the types of ensembles of decision trees in the forest were dou@é’d\q

D ifa large number of decision trees in the ensemble were trained on data de | from easy and hard cases.

Answer: B
&
k
T

Explanation:

x
In the last two lines of the third paragraph, it has been given that forest is cognitively boosted by training the trees on the hardest cases.
So, if a large number of decision trees in the ensemble were tra‘ns\ data derived from easy cases, the forest will not get a cognitive

boost and thus weaken the efficacy of a random decision forest.
Hence, option B is the correct answer

Question 24 Q \\%

On the basis of the passage, which of the follow S r,s,llkeiy‘m be most effective in solving the problem of rising obesity levels?
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D

1 v

A A specialised team of nutritionists frth varlous countrles who are also trained in the machine-learning algorithm of random decision
forest.

A team comprised of nutritionists, psyc\éb@sl%pﬁan planners and media personnel, who have each scored a distinction in their
respective subject tests.

C A specialised team of top n ):meq\s{s\from various countries, who also possess some knowledge of psychology.

/ 17 (G
D A team comprised of nutritionlstlsv psych?loglsts urban planners and media personnel, who have each performed well in their
respective subject tests. '.\ \
< \_/
Answer: D & il

| .'
\\

Explanation: \ -

According to the author's rﬁaln\ldea the problem should be tackled by a diverse group of members from different fields. On the basis of
this, we can eliminate options K?:m’d C because, in these options, the expert team consists of only nutritionists.

Out of optionfsfll%ﬁand D, option D is better because it mentions a team of members who have performed well in their respective field. In
option B, the/m'embers are selected on the parameter of meritocracy, which is not concurrent with the author's viewpoint.

Hence, opt|$ D is the corr;éCt answer.

Instructlons \\_ :f /
For the following questions answer them individually

Question 25

The four sentences (labelled 1,2,3,4) given in this question, when properly sequenced, form a coherent paragraph. Each sentence is
labelled with a number. Decide on the proper sequence of order of the sentences and key in this sequence of four numbers as your
answer:

1. In the era of smart world, however, ‘Universal Basic Income’ is an mef}e{tlve in rumentWﬁ!ch cannot address the potential
breakdown of the social contract when large swathes of the populatlon/w d effecti J y be u:ﬁmployed

2. In the era of industrial revolution, the abolition of child labour, poor Jaw nd the gro@ e unions helped families cope with
the pressures of mechanised work. ; J ,.

3. Growing inequality could be matched by a creeping authorltarlamS/m thatis b,ol’ste:e by technology that is increasingly able to peer
into the deepest vestiges of our lives. / R ( A

4. New institutions emerge which recognise ways in which workers could: {:ohubute tcyahd benefit by economic growth when, rather
than if, their jobs are automated. N \\ 3

Answer:4213 [“\

Explanation:
4 should be the opening sentence since it states that new mst‘itutlons recogr lge ways in which workers can contribute to the economy.
The other 3 sentences provide examples and elaborate on the same- andhe e sentence 4, which introduces the topic of discussion,
should be the opening sentence. A

\
2 talks about the period of industrial revolution:] talks \put the smart world. Chronologically, 1 should follow 2. Moreover, 2 talks about
an example that conformed to the point men’uoh@mse t\ence 4. On’fthe other hand, 1 talks about an inadequacy. Therefore, 2 should
have preceded 1. 3 should be the last sentence of the“parégraph

~ -
N

Sentences 4213 form a coherent paragraph qu hence, 4213 iéﬁihe correct answer.

[ 4
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o

Question 26 e —

-

The passage given below is followed by four summaries. Choose the option that best captures the author’s position.
The early optimism about spo jEfement effects on delinquency was premature as researchers failed to find any consistent
relationships between sports | a/ tlcmafren and deviance. As the initial studies were based upon cross-sectional data and the effects
captured were short-term, it \lvas prﬁblema\ to test and verify the temporal sequencing of events suggested by the deterrence theory.
The correlation between sport and U#{Ilnqulé cy could not be disentangled from class and cultural variables known. Choosing
individuals to play sports in the flrst plagg,Was problematic, which became more acute in the subsequent decades as researchers began
to document just how ¢I?sely sports participation was linked to social class indicators.

.f"m\\."-
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-
S
A Thereisa d;rect relatlonshl\Between sport participation and delinquency but it needs more empirical evidence.
y. /

B StatIStICé! and empirical weaknesses stand in the way of inferring any relationship between sports participation and deviance.
C Sports pW}i’nked to class and cultural variables such as education, income, and social capital.

Contradicting the previous optimism, latter researchers have proved that there is no consistent relationship between sports
participation and deviance.

Answer: B

/-

pe
Explanation: P
The main points of the passage are that the relation between sports part|C|/a‘I/on and deviation have not been established and that there
is not sufficient evidence to prove the relationship. / = /:\
Option A is distorted because it states that the relationship is already es/ta hey /f :
Option B mentions all the relevant points. ’f f
Option C does not talk about the relationship and hence, ruled out. |
Option D distorts what is given in the paragraph by saying that latter r/ése rchers e‘*ﬁ ved" there is no consistent relationship. Thus, it

is can be eliminated. //\
Hence, option B is the correct answer. L\v
Question 27 \ j

The four sentences (labelled 1, 2, 3, and 4) given in this question, ahen{operly sequenced, form a coherent paragraph. Decide on the
proper order for the sentences and key in this sequence of four numbe?sas\y\our answer.

1. Self-management is thus defined as the ‘individual’s ablll'gyt@anage thqtymptoms treatment, physical and psychosocial
consequences and lifestyle changes inherent in living with a chmg‘ie coEgﬂ

2. Most people with progressive diseases like dementla prefer to have control over their own lives and health-care for as long as
possible. ( \

3. Having control means, among other thmds,{hkatlép{s theng;ehges perform self-management activities.

4. Supporting people in decisions and actions that mét’e self -management is called self-management support requiring a
cooperative relationship between the patient, the family, and‘the professionals.

Answer:2314 Y 4
Explanation: LA /-‘7

1 states that 'self management is 'thus' defm\dwavheﬂdlwdual s ability to manage...". Therefore, some details about self management
should have been provided before sentence 1.

Sentence 2 states that people \pufbdgmentla prefer to have 'control' in their lives. Sentence 3 states what 'having control means'.
Therefore, sentences 2 and 3 fq‘rm a mahdate:y pair.
L | /‘. W
Sentence 1 should follow sentence $ since, s;ntence 3 states that 'having control means to perform self management activities' and
sentence 1 defined self managemen\taciwffles Sentence 4 should be the last sentence since it states what self management support is.
Self management support can be defined only after defining what self management is.
.‘\\'\

Sentences 2314 form a Goherent paragraph. Therefore, 2314 is the correct answer.

-~

Question 28 .

25
A Japanese 6v’érnment panel announced that it recommends regulating only genetically modified organisms that have had foreign
genes per ently |ntrodu,ced into their genomes and not those whose endogenous genes have been edited. The only stipulation is
that researchers and busmgsses will have to register their modifications to plants or animals with the government, with the exception
of microbes cqltured in cﬁﬁtalned environments. Reactions to the decision are mixed. While lauding the potential benefits of genome
editing, an edltonalopp’éses across-the-board permission. Unforeseen risks in gene editing cannot be ruled out. All genetically
modified products must go through the same safety and labeling processes regardless of method.

A Excepting microbes cultured in contained environments from the regulations of genome editing is premature.

g Creating categories within genetically modified products in terms of transgenlc odification and genome editing advances science
but defies laws. 4
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c Exempting from regulations the editing of endogenous genes is not desi blejé thfs”(ﬁ'r'oc'éjbje might be risk-prone.
\
"4 \_/‘ /
D A government panel in Japan says transgenic modification and genome editing arg pot the same.
Y
Answer: C / [
f_//\‘\ &
. A& -
Explanation: N 3—~
Let us note down the important points: \

S
The Japanese government recommends regulating GM organisms in'vvh}qh oreign genes are introduced, not those in which the
endogenous genes have been edited. The step has drawn mixed reactions?s;rcgythere are some risks involved in gene editing.

4
Option A shifts the focus on exempting microbes. The centralm

-~

—

ssage is that endogenous gene editing is not totally risk
free. Therefore, we can eliminate option A.

/)

\

Option B states that categorizing GM produc}s\eidvance cience but defies laws. No such comparison has been made in the paragraph.
The legality of the issue has not been discussed and hes\c , W iminate option B.

Option D fails to capture the fact that endogenous gehe\e;:l&—iag is not devoid of risks.
Only option C captures the fact that exempting endogen&ls\g\ editing is not desirable due to the risks involved. Therefore, option C is
the right answer. 5

yllabus (Download PDF)

Question 29

2
Five sentences related to a to& are given below. Four of them can be put together to form a meaningful and coherent short paragraph.

Identify the odd one out. L/ / I/ \) )\/

1. Much has been recently discoverg@( the development of songs in birds.

2. Some species are rq@l'icted to a single song learned by all individuals, others have a range of songs.
3. The most import 'i‘\éll\:d\ijory stimuli for the birds are the sounds of other birds.

4. For all bird species there 'aﬁescribed path to development of the final song,

5. A bird beginﬂuith the subsong, passes through plastic song, until it achieves the species song.
P
&

Answer:3 | ( ]

Explanation: \/

On reading the sentences, we can infer that the paragraph talks about the development of songs in birds.

1 should be the opening sentence since it introduces the topic of discussion, the development of songs in birds. 1 provides a proper
introduction to the paragraph by stating that much has been discovered about the development of songs in birds.

4 should be the sentence that follows 1 since it states that the development of .songs in birds follow a template process.

5 explains the mechanism in which the song is developed. Therefore, sentence 5 should follow sentence 4.

2 should be the last sentence since it states that some species restrict themselves to o@ hile other species have more than one
/

song.
; |

=
Sentences 1452 form a coherent paragraph. Sentence 3 talks about the s pdéof irds'while the other sentences are about how a
species develops a song. Therefore, sentence 3 is the one out of context and he

, 3 isithe right answer.
PN
0

\_
x

\,‘\::\\\\\
J
%\?\ j

—
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Question 30 ( ‘

The four sentences (labelled 1, 2, 3, and 4) éf in th|5\duest|on when properly sequenced, form a coherent paragraph. Decide on the
proper order for the sentences and key in this s sequ ncep fbur—num ers as your answer.

1. It was his taxpayers who had to shell out as much as $1 6bn over 10 years to employees of failed companies.
2. Companies in many countries routinely eng;:ge in such actlwtles which means that the employees are left with unpaid entitlements
3. Deliberate and systematic liquidation o,f a company to avoid liabilities and then restarting the business is called phoenixing.

4. The Australian Minister for Revenue a d\Serwces dl#vered in an audit that phoenixing had cost the Australian economy between
$2.9bn and $5.1bn last year. \\_ 4

Answer:3241

3 should be the opening senteﬁce s nlt:e it |n\t oduces the concept of phoenixing. Sentence 2 logically continues sentence 1 by stating that
companies in many countries engage'in suéh activities (Phoenixing). Sentence 2 should be followed by sentence 4 since it moves to a
specific instance (Australian mlnlsterSthScovery) from general statements. Sentence 1 should follow sentence 4 since it states that it
was 'his' taxpayers (Au'strallan Minister's taxpayers or Australian citizens) who had to foot the bill.

Q% h
Sentences 3241 form\za‘\t:bhig‘renj\paragraph. Therefore, 3241 is the correct answer.
¥

Explanation: / !

Question 31

Five senten?eﬁ related to a topic are given below. Four of them can be put together to form a meaningful and coherent short paragraph.
Identify the|o|dd one out. Chpose its number as your answer and key the number in:

1. Our smart hqnes can rip‘{N track our diets, our biological cycles, even our digestive systems and sleep-patterns.

2. Researchers ha\n;even coined a new term, “orthosomnia”, to describe the insomnia brought on by paying too much attention to
smartphones and sleep-tracking apps.

3. Sleep, nature’s soft nurse, is a blissful, untroubled state all too easily disturbed by earthly worries or a guilty conscience.

4. The existence of a market for such apps is unsurprising: shift work, a long- hour/s ulture and blue light from screens have conspired
to rob many of us of sufficient rest. ,-

5. A new threat to a good night's rest has emerged - smart-phones, with sLe/p -tracking apps
y

f /// ' Q\
Answer:3 / 7 / 1\ ( ) >

Explanation:
The use of the word "such apps" in 4 indicates that 4 must be precedfo)g a Ilnth/at mentjons a type of app. We find this in 5 and 2. So
the pairs could be 5-4 or 2-4. If we see the sentences 5 and 1 they introd |c under discussion and provide context for the details
provided in 2 and 4. Hence, 1 and 5 should come at the start of the paragrap ‘and ould be the end of the paragraph. Between 5 and
1, 5 provides a better opening line as it introduces the main topic of discussion \-Iice the order of the paragraph should be 5-1-2-4.

Sentence 3 which talks of "guilty conscience" is out of context W|th(the\re§t of the paragraph.

Free Videos @ CAT ﬁreparatlon

Question 32 —

Five sentences related to a topic are given below. Four/t‘)\f them can be put together to form a meaningful and coherent short paragraph.
Identify the odd one out. Q\
\ \.,//7

1. As India looks to increase the number of cnles\aur\u\ plannlng must factor in potential natural disasters and work out
contingencies in advance. .

2. Authorities must revise data and upgrade Jr;frastructure h mitigation plans even if their local area hasn’t been visited by a natural
calamity yet. /

3. Extreme temperatures, droughts, and fi rest fires have more than doubled since 1980.

4. There is no denying the fact that our baseline normal/ eather is changing.

5. It is no longer a question of whether we\vg‘lnggl'ly:y/ ature's fury but rather when.

Answer:3

/ >

4 \
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Explanation: ] 7 W

If we read all the sentences together we seekhat the author is arguing for India preparing itself in advance for future natural disasters.
Sentence 4, which introduces the bréaaéfcontext makes for a good opening line. Sentences 1 and 2 together make the main point that
the author is trying mall{e_*through the paragraph - that India should prepare itself for future natural disasters. Sentence 5 emphasizes the

main point by adding,khé\fg natural disasters will occur in the future and thus makes for a good concluding line.
i,

Sentence 3, that talksMexgreme temperatures does not lead off to any of the other sentences nor does it add to any of the other
sentences. Hence, it is the odd*&@g

Additional Expléﬁation

1-2is ablo &{ both are talking about things that authorities should do 45 are rhetorical opinions of the author on the weather. 3 is a fact.
We use fact§ ‘to draw reasépable conclusions. This standalone fact cannot be used to draw any conclusion. The style of the author's
writingin 4 a Mgmdre opinionated than factual. So 3 is a misfit. Moreover, we cannot make a connection between 1-4, 1 says we
need contingencies for natural disaster(suggestive) whereas, 4 says whether is changing(rhetorical).

Question 33

The four sentences (labelled 1,2,3,4) given in this question, when properly sequenced, form a coherent paragraph. Each sentence is

labelled with a number. Decide on the proper sequence of order of the sentences and key in this sequence of four numbers as your
. y

answer: .

y

Yy

1. They would rather do virtuous side projects assiduously as long as thgs/ would not compélthem into doing their day jobs more
honourably or reduce the profit margins. / 2 J I}g

2. They would fund a million of the buzzwordy programs rather than fund r,znent queion the rules of their game or alter their own
behavior to reduce the harm of the existing distorted, inefficient and dnf ir rules. fra=

3. Like the dieter who would rather do anything to lose weight than aptu IZ eat vje’ss,— business elite would save the world through

social-impact-investing and philanthro-capitalism. / A { )
4. Doing the right thing — and moving away from their win-win meniallty < mgﬁ\lnvo )Ie real sacrifice; instead, it's easier to focus on
their pet projects and initiatives. \ R
L-"’)
Answer:3241 f‘*

Explanation:

After reading all the sentences, we know that the paragraph i |s abOut the bus;nassmen who, instead of tackling the root causes, focus on
superficial solutions. Statement 3 is the opening sentence as it |ntroducesth‘é topic by comparing businessmen with a dieter who is
ready to do everything except eating less. Statement 2 mentlons the examples of some of the specious solutions mentioned in statement
3. Statement 4 provides the reason why businessmen arQ hesitant to execute the genuine solutions which will bring real change.
Statement 4 mentions the alternative taken Hy businessmen. The word 'rather' in statement 1 connects it with statement 4. Thus, the

correctorderis3-2-4-1. “--\:\ \\— ==
Hence, 3241 is the correct answer. = ‘\h
D
Question 34 ~7
/‘>

The passage given below is followed by foxi/y summaries. Choose the option that best captures the author’s position.

/
Should the moral obligation to rescue an(& aid persons in 6rave peril, felt by a few, be enforced by the criminal law? Should we follow
the lead of a number of European countrle‘k\énd enat;t d Samaritan laws? Proponents of bad Samaritan laws must overcome at least
three different sorts of obstacles. First, they must show the laws are morally legitimate in principle, that is, that the duty to aid others is
a proper candidate for legal enforcement. Second, they must show that this duty to aid can be defined in a way that can be fairly
enforced by the courts. Third, t ’ﬁu& t show that the benefits of the laws are worth their problems, risks and costs.

..-"’ / A >
. |
u
A A number of European countrie that hal/}e successfully enacted bad Samaritan laws may serve as model statutes.
\ \\_ / 4
B Everyone agrees that?people oughtTo ald others, the only debate is whether to have a law on it.
I I

LAY
C If bad Samaritan%are found to be legally sound and enforceable they must be enacted.
.
D Bad Samarltan laws may becteswable but they need to be tested for legal soundness.

Answer: D / /
’r f
| ]
Explanation; | 5
In the given p raggMghuthor has discussed about Bad Samaritan laws and whether it is enforceable by law. While answering the
question, the:mmr—pn‘éforward three points which she deems necessary for the implementation of Bad Samaritan law. Only after
crossing the three obstacles mentioned by the author, the law should be enacted. Option D is the most relevant in this context.
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Option A is about implementing the law without any conditions, which is not what the author wants to convey.

Option B does not mention anything about the three obstacles.

Option C is stated with a firmness which is not the tone of the author. The author says that the law may be enacted, not must be enacted.
Hence, option D is the correct answer.

Best Online Coaching for CAT
LRDI

Instructions

The base exchange rate of a currency X with respect to a currency Y is the'number. of units of currency Y which is equivalent in value to
one unit of currency X. Currency exchange outlets buy currency at buying exchange rates that are lower than base exchange rates, and
sell currency at selling exchange rates that are higher than base exchange rates.

A currency exchange outlet uses the local currency L to buy and sell thrée.international currencies A, B, and C, but does not exchange one
international currency directly with another. The base exchange rates of A, "B and C with respect to L are in the ratio 100:120:1. The buying
exchange rates of each of A, B, and C with respect to L are 5%:below the corresponding base exchange rates, and their selling exchange
rates are 10% above their corresponding base exchange rates. Thefollowing/facts are known about the outlet on a particular day:

1. The amount of L used by the outlet to buy C equals the amount of L it received by selling C.

2. The amounts of L used by the outlet to buy A and B afe in the ratio 5:3.

3. The amounts of L the outlet received from/the sales of \A and B are in the ratio 5:9.

4. The outlet received 88000 units of L by selling A-during the day:

5. The outlet started the day with some amount of ;2500 units of A, 4800 units of B, and 48000 units of C.
6. The outlet ended the day with some amount of L, 3300-units.of A, 4800 units of B, and 51000 units of C.

Question 35

How many units of currency A did the outlet buy on that day?
Answer:1200

Explanation:
It is given that the base exchangeTates.of A, B and C with respect to L are in the ratio 100:120:1. Let us assume that base exchange rates
are '100a', '"120a"' and 'a' in that/order.

It is given that the buying exchange frates of leach of A, B, and C with respect to L are 5% below the corresponding base exchange rates.
Therefore, we can say that the buying'exchange rates are 95a, 1144, 0.95a.

It is given that the selling’exchange rates of each of A, B, and C with respect to L are 10% above their corresponding base exchange rates.
Therefore, we can say.that the selling exchange rates are 110a, 1323, 1.1a.

We know about the opening and closing units in stock for each currency. Let us draw the table accordingly.

No. of units
Currency Buying rate Base rate Selling rate |Opening stock Buy Sell Closing stock
A 95a 100a 110a 2500 3300
B 114a 120a 132a 4800 4800
C 0.95a a 1.1a 48000 51000

Let 'p','q' and 'r' be the number of units of currency A, B and C bought by the outlet on that day.

Then, we can say that the outlet sold 'p - 800, 'q' and 'r-3000' units of currency A, B and C respectively.

No. of units
Currency Buying rate Base rate Selling rate |Opening stock Buy Sell Closing stock
A 95a 100a 110a 2500 p p - 800 3300
B 114a 120a 132a 4800 q q 43800
C 0.95a a 1.1a 43000 r r - 3000 51000

It is given that the amount of L used by the outlet to buy C equals the amaount of Lfitreceived by selling C.
= 0.95a*r = 1.7a*(r - 3000)

= 0.15r = 3300

Downloaded from cracku.in


https://cracku.in/cat-online-coaching
https://cracku.in

= r=22000

It is also given that the amounts of L used by the outlet to buy A and B are in the.ratio 5:3.

p * 9ba 5
= gx114a = 3

=p=2q
Also, the amounts of L the outlet received from the sales of A and B-afe in the ratio 5:9.

(p—800) %« 110a 5
~  g#%132a —g

(2g — 800) % 110a
= q*132a

I
© o

= q =600

Therefore, p = 2q = 2*600 = 1200.

It is given that the outlet received’88000.units of L by selling A during the day.
=> (p-800)*110a = 88000

=> (1200-800)*110a = 88000

= 44000a = 88000

=a=2

We can fill the entire table and answer all the questions.

No. of units
Currency Buying rate Base rate Selling rate |Opening stock Buy Sell Closing stock
A 190 200 220 2500 1200 400 3300
B 228 240 264 4800 600 600 43800
C 1.9 2 2.2 43000 22000 19000 51000

From the table we can see that the currency outlet bought 1200 units of A.

Get MBA Exam Updates: Whatsapp "CAT" to 7661025559

Question 36

How many units of currency C did the outlet sell on that day?

A 22000
B 19000
C 6000

D 3000

Answer: B

Explanation:
It is given that the base exchange rates of A, B and C with respect to L are’in the ratio 100:120:1. Let us assume that base exchange rates
are '"100a','"120a' and 'a" in that order.

It is given that the buying exchange rates of @ach of A, B, and C with respect to L are 5% below the corresponding base exchange rates.
Therefore, we can say that the buying exchange rates-are 953, 114a,0.95a.

It is given that the selling exchange rates of each of A, B,-and-C with respect to L are 10% above their corresponding base exchange rates.
Therefore, we can say that the selling exchange rates are 110a;132a, 1.1a.

We know about the opening and closing units in stock for each currency. Let us draw the table accordingly.
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No. of units
Currency Buying rate Base rate Selling rate |Opening stocld Buy Sell Closing stock
A 95a 100a 110a 2500 3300
B 114a 120a 132a 4800 4800
C 0.95a a 1.1a 48000 51000

Let'p','q" and 'r' be the number of units of currency A, B and C bought by the outlet on that day.

Then, we can say that the outlet sold 'p-=800', 'q' and 'r-3000' units of currency A, B and C respectively.

No. of units
Currency Buying rate Base rate Selling rate |Opening stock Buy Sell Closing stock
A 95a 100a 110a 2500 p p - 800 3300
B 114a 120a 132a 4800 q q 4800
C 0.95a a 1.1a 48000 r r- 3000 51000

It is given that'the amount of L used by the outlet to buy C equals the amount of L it received by selling C.
= 0.95a*r = 1.1a*(r-3000)
=-0.15r = 3300

= r=22000

It is also given that the amounts of L used by the outlet to buy A and B are in the ratio/5:3.

p *9ba 5
= q*114a = 3

=p=2q
Also, the amounts of L the outlet received from the sales of A and B are in'theratio_5:9.

(p —800) *110a 5

(2¢g — 800) * 110a
= q * 132a

I
© o

= q =600

Therefore, p = 2q = 2*600 = 1200.

It is given that the outlet received 88000 units of L by selling A during the day.
= (p-800)*110a = 88000

= (1200-800)*110a = 88000

= 44000a = 88000

=a=2

We can fill the entire table and answer all the questions.

No. of units
Currency Buying rate Base rate Selling rate |Opening stock Buy Sell Closing stock
A 190 200 220 2500 1200 400 3300
B 228 240 264 4800 600 600 43800
C 1.9 2 2.2 48000 22000 19000 51000

From the table we can see that the ¢urrency outlet sold 19000 units of currency C. Hence, option B is the correct answer.

Question 37

What was the base exchange rate of currency B with respect to currency L on that day ?

Answer:240
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Explanation:
It is given that the base exchange rates of A, B and C with respect to L are in the ratio 100:120:1. Let us assume that base exchange rates
are '"100a', '120a' and 'a" in that order.

It is given that the buying'exchange rates of each of A, B, and C with respect to L are 5% below the corresponding base exchange rates.
Therefore, we can say that the buying exchange rates are 95a, 114a, 0.95a.

It is given that the selling exchange rates of each of A, B, and C with respect to L are 10% above their corresponding base exchange rates.
Therefore, we can say that the selling exchange rates are 110a, 1323, 1.1a.

We know about the opening and closing units in stock for each currency. Let us draw the table accordingly.

No. of units
Currency Buying rate Base rate Selling rate |Opening stocld Buy Sell Closing stock
A 95a 100a 110a 2500 3300
B 114a 120a 132a 4800 4800
C 0.95a a 1.1a 48000 51000

Let'p','q' and 'r' be the number of units of currency A, B and C bought by the-eutlet on that day.

Then, we can say that the outlet sold 'p - 800, 'q' and 'r-3000' units of currency A, B and C respectively.

No. of units
Currency Buying rate Base rate Selling rate |Opening stock Buy Sell Closing stock
A 95a 100a 110a 2500 p p - 800 3300
B 114a 120a 132a 4800 q q 4800
C 0.95a a 1.1a 48000 r r- 3000 51000

It is given that the amount of L used by the outlet to buy, € equals the amount of L it received by selling C.
= 0.95a*r = 1.1a*(r - 3000)
=-0.15r = 3300

= r=22000

It is also given that the amounts of L used by the outlet to buy A and B are in the ratio 5:3.

p *9ba 5
= q*114a = 3

=p=2q
Also, the amounts of L the outlet received.from the sales of A and B are in the ratio 5:9.

(p—800) *x110a 5

(2¢g — 800) * 110g¢
= q * 132a

I
© o

= q =600
Therefore, p =,2g = 2*600 = 1200.

It is given that the outlet received 88000 units of L by selling A during the day.
= (p-800)*110a = 88000

= (1200-800)*110a=88000

=> 44000a = 88000

—a=2

We can fill the entire table and answer all the questions.
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No. of units
Currency Buying rate Base rate Selling rate |Opening stock Buy Sell Closing stock
A 190 200 220 2500 1200 400 3300
B 228 240 264 4800 600 600 43800
C 1.9 2 2.2 43000 22000 19000 51000

From the table we can see that the base exchange rate of currency B with respect to currency L was 240.
Question 38

What was the buying exchange rate of currency C with respect to-currency-L on that day?

A 1.10
B 0.95
C 220

D 1.90

Answer: D

Explanation:
Itis given that the base exchange rates of A, B and C with respect to L are in the ratio 100:120:1. Let us assume that base exchange rates
are '100a’,'120a' and 'a’ in that order:

It is given that the buying exchange rates of each of A, B, and C with respect to L are 5% below the corresponding base exchange rates.
Therefore, we can say that the-buying exchange rates are 953, 1144, 0.95a.

It is given that the selling exchange rates-of each of A, B, and C with respect to L are 10% above their corresponding base exchange rates.
Therefore, we can say that the selling exchange rates are 110a, 1323, 1.1a.

We know about the opening and closing units in stock for each currency. Let us draw the table accordingly.

No. of units
Currency Buying rate Base rate Selling rate |Opening stocld Buy Sell Closing stock
A 95a 100a 110a 2500 3300
B 114a 120a 132a 4800 4800
C 0.95a a 1.1a 48000 51000

Let 'p','q' and 'r' be the number of units of currency A, B and C bought by the outlet on that day.

Then, we can say that the outlet sold 'p - 800", 'q' and 'r-3000' units of currency A, B and C respectively.

No. of units
Currency Buying rate Base rate Selling rate |Opening stock Buy Sell Closing stock
A 95a 100a 110a 2500 p p - 800 3300
B 114a 120a 132a 4800 q q 4800
C 0.95a a 1.1a 43000 r r - 3000 51000

It is given that the amount of L used by the outlet to buy C equals the amount of L it received by selling C.
= 0.95a*r = 1.7a*(r - 3000)
= 0.15r = 3300

= r=22000

It is also given that the amounts of L used by the outlet to buy A and Bare in the ratio 5:3.

p*95a 5
— g% 114a — 3

=p=2q

Also, the amounts of L the outlet received from the sales,of A and B are in the ratio 5:9.
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(p —800) *110a 5
~  g¥132a —g
(2¢ — 800) * 110a 5

= q =600

Therefore, p = 2q = 2*600 = 1200.

It is given that the outlet received 88000 units of L by selling A during the day.
= (p-800)*110a = 88000

= (1200-800)*110a = 88000

= 44000a = 88000

—>a=2

We can fill the entire table and answer all the questions.

No. of units
Currency Buying rate Base rate Selling rate |Opening stock Buy Sell Closing stock
A 190 200 220 2500 1200 400 3300
B 228 240 264 4800 600 600 4800
C 1.9 2 2.2 48000 22000 19000 51000

From the table we can see that the buying exchange rate of currency C with respect to currency L was 1.9. Hence, we can say that option
D is the correct answer.

Important Verbal Ability Questions for'CAT (Download PDF)

Instructions

Each visitor to an amusement park needs to buy a ticket. Tickets can be/Platinum, Gold, or Economy. Visitors are classified as 0Old,
Middle-aged, or Young. The following facts are known about visitors and ticket sales on a particular day:

1. 140 tickets were sold.

2. The number of Middle-aged visitors was twice the number of Old visitors;ywhilethe-number of Young visitors was twice the number of
Middle-aged visitors.

3. Young visitors bought 38 of the 55 Economy tickets that were sold; andthey.bought half the total number of Platinum tickets that were
sold.

4. The number of Gold tickets bought by Old visitors was equal to the number of Economy tickets bought by Old visitors.

Question 39

If the number of Old visitors buying Platinum tickets was equal to the number.of Middle-aged visitors buying Platinum tickets, then
which among the following could be the total number of Platinum tickets sold?

Answer: D
Explanation:
Let X' be the the number of Old visitors. Then,the number of middle-aged visitors = 2x.
Also, the number of Young visitors = 2*2x = 4x
= X+2x+4x = 140

= x=20
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It is given that total of 55 Economy tickets‘were sold out.

It is given that Young visitors half the total number of Platinum tickets that were sold.
Let 'Y' be the number of Platinum tickets bought by the Young visitors.

Then,the number of Platinum tickets sold = 2Y.

Consequently, we can say that the number of Gold tickets sold = 140 - 55-2Y = 85 - 2V.

Platinum Gold Economy Total
old 20
Middle-aged 40
Young Y 33 80
Total 2Y 85-2Y 55 140

Let us assume that 'Z' is the number of Economy tickets bought by the Old visitors. Itis given that the number of Gold tickets bought by
Old visitors was equal to the number of Economy tickets bought by Old visitors.

Platinum Gold Economy Total
old 20-2Z Zz Zz 20
Middle-aged | (Y422) - 20 | 43 - (Y+Z) 17-2 40
Young Y 42-Y 338 80
Total 2Y 85-2Y 55 140

It is given that the number of Old visitors buying Platinum tickets was equal.to the number of Middle-aged visitors buying Platinum
tickets.

20 - 2Z = (Y+2Z) - 20
Y +4Z = 40
2Y +8Z = 80
2Y =80-8Z

We can see that Z can take only integer values. Therefore, we can say that the the total number of Platinum tickets sold will be a multiple
of 8. Hence, option D is the correct answer.

Question 40

If the number of Old visitors buying Platinum tickets was equal to the number of Middle-aged visitors buying Economy tickets, then the
number of Old visitors buying Gold tickets was

Answer:3

Explanation:
Let 'x' be the the number of Old visitors. Then,the number of middle-aged visitors = 2x.

Also, the number of Young visitors = 2*2x = 4x

= Xx+2x+4x = 140

=x=20

It is given that total of 55 Economy tickets were sold out.

It is given that Young visitors half the total number of Platinum tickets that were sold.
Let 'Y' be the number of Platinum tickets bought by the Young visitors.

Then,the number of Platinum tickets sold = 2V.

Consequently,we can say that the number of Gold tickets sold = 140 - 55 - 2Y = 85 - 2V.

Platinum Gold Economy Total
old 20
Middle-aged 40
Young Y 33 80
Total 2Y 85-2Y 55 140
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Let us assume that 'Z' is the number of Economy tickets bought by the Old visitors_it is given that the number of Gold tickets bought by
Old visitors was equal to the number of Economy tickets bought by Old visitors.

Platinum Gold Economy Total
old 20 - 22 Zz Z 20
Middle-aged | (Y422) - 20 | 43 - (Y+Z) 17-2 40
Young Y 42-Y 338 80
Total 2Y 85-2Y 55 140

It is given that the number of Old visitors buying Platinum tickets was equal-to.the humber of Middle-aged visitors buying Economy
tickets.

20-22=17-2

=7Z=3

Therefore, we can say that the number of Old visitors buying Gold.tickets = 3
Question 41

If the number of Old visitors buying Gold tickets was strictly greater than the number of Young visitors buying Gold tickets, then the
number of Middle-aged visitors buying Gold tickets was

Answer:0

Explanation:
Let 'x' be the the number of Old visitors. Then, the number of middle-aged visitors = 2x.

Also, the number of Young visitors = 2*2x = 4x

= x+2x+4x = 140

=x=20

It is given that total of 55 Economy-tickets were sold out.

It is given that Young visitors half the total number of Platinum tickets that were sold.
Let'Y' be the number of Platinum tickets bought by the Young visitors.

Then,the number of Platinum tickets sold = 2Y.

Consequently, we canp.say that the number of Gold tickets sold = 140 - 55 - 2Y = 85 - 2Y.

Platinum Gold Economy Total
Old 20
Middle-aged 40
Young Y 33 80
Total 2Y 85-2Y 55 140

Let us assume that*Z"is the number of Economy tickets bought by the Old visitors. It is given that the number of Gold tickets bought by
Old visitors was equal to the number of Economy tickets bought by Old visitors.

Platinum Gold Economy Total
old 20-2Z z Zz 20
Middle-aged | (Y+22Z) - 20 | 43 - (Y+Z) 17-2 40
Young Y 42-Y 33 80
Total 2Y 85-2Y 55 140

It is given that the number of Old visitors buying Gold tickets was strictly greater than the.numbeér of Young visitors buying Gold tickets.
Z>42-Y

=Z7Z+Y>42..(1)

The number of Middle-aged visitors buying Gold tickets = 43 - (Y+2)

Since (Y+Z) > 42, then We can say that (Y+Z) min = 43.

Hence, the number of Middle-aged visitors buying Gold tickets = 43 - 43.=0
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Question 42

Which of the following statements MUST be FALSE?

A The numbers of Gold and Platinum tickets bought'by Young visitors were equal
B The numbers of Middle-aged and Young visitors buying Gold tickets were equal
C The numbers of Old and Middle-aged visitors buying Platinum tickets were equal

D The numbers of Old and Middle-aged visiters buying/Economy tickets were equal

Answer: D

Explanation:
Let X' be the the number of Old/visitors. Then, the number of middle-aged visitors = 2x.

Also, the number of Young visitors = 2*2x =/4x

= X+2x+4x = 140

=x=20

It is given that total of 55 Economy tickets were sold out.

It is given that Young visitors half the total number of Platinum tickets that were sold.
Let 'Y' be the'number of Platinum tickets bought by the Young visitors.

Then,the number of Platinum tickets sold = 2V.

Consequently, we can-say that the number of Gold tickets sold = 140 - 55 - 2Y = 85 - 2V.

Platinum Gold Economy Total
old 20
Middle-aged 40
Young Y 33 80
Total 2Y 85-2Y 55

Let us assume that 'Z' is the number of Economy tickets bought by the Old visitors. It is given that the number of Gold tickets bought by
Old visitors was equal to the number of Economy tickets bought by Old yisitors.

Platinum Gold Economy Total
old 20-22 z Z 20
Middle-aged | (Y+22Z)-20 | 43 - (Y+Z) 17-2 40
Young Y 42-Y 33 80
Total 2Y 85-2Y 55 140

Let us check with the help of options.

Option (A): The numbers of Gold and Platinum tickets bought by Young visitors were equal.
Y=42-Y

=Y = 21. Hence, this statement can be true.

Option (B): The numbers of Middle-aged and,Young visitors buying Gold tickets were equal
43-(Y+Z)=42-Y

= Z = 1. Hence, this statement can be true.

Option (C): The numbers of Old and Middle-aged visitors buying Platinum tickets were equal
20 - 2Z = (Y+2Z) - 20

= Y+4Z = 40. Hence, this statement can he true.
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Option (D): The numbers of Old and Middle-aged visitors buying Economy tickets were equal

Z=17-2

= Z = 8.5. This is not possible as Z has to-bean integer. Hence, we can say that this statement is false.
Instructions -

An agency entrusted to accredit collegeslooks at four parameters: faculty quality (F), reputation (R), placement quality (P), and
infrastructure (I). The four parameters are used to arrive at an overall score, which the agency uses to give an accreditation to the
colleges. In each parameter, there are five possible letter grades given, each carrying certain points: A (50 points), B (40 points), C (30
points), D (20 points), and-F (0.points). The overall score for a college is the weighted sum of the points scored in the four parameters.
The weights of the parameters-are;0.1, 0.2, 0.3 and 0.4 in some order, but the order is not disclosed. Accreditation is awarded based on
the following seheme:

Range Accreditation
Overall score = 45 AAA
35 = Qverall score < 45 BAA
25 = Overall score < 35 BBA
15 £ Qverall score < 25 BBB
Overall score < 15 Junk

Eight colleges apply for accreditation, and receive the following grades in the four parameters (F, R, P, and I):

F R P I

A-one A A A B
Best Ed B C D D
Cosmopolitan | B D D C
Dominance D D B C
Education Aid | A | A B A
Fancy Al A B B
Global C F D D
High Q C D D B

It is further known that in terms of overall scores:
1. High Q is better than Best Ed;

2. Best Ed is better than Cosmopolitan; and

3. Education Aid is better than A-one.

Question 43

What is the weight of the faculty quality parameter?

A 02
B 03
C 04

D 0.1

Answer: D

Explanation: ;
It is given that: High Q > Best/Ed > Cosmopolitan and Education Aid > A-one

We can say that High Q > Cosmopolitan

We can see that both High Q and Cosmopolitan got same points in reputation (R) and placement quality (P). High Q received more points
in infrastructure (I) than Cosmopolitan whereas Cosmopolitan received more points in faculty Quality (F) than High Q.

Hence, we can say thatinfrastructure's weight should be greater than Faculty quality. i.e. 1>F

Similarly, We can see that both'Best Ed and Cosmopolitan got same points in faculty Quality (F) and placement quality (P). Best Ed
received more, points in reputation (R) than Cosmopolitan whereas Cosmopolitan received more points in infrastructure (I) than Best Ed.

Hence, we can say that reputation's weight should be greater than infrastructure. i.e. R>|
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Similarly, We can see that/both Education Aid and A-one got same points in faculty Quality (F) and reputation (R). Education Aid received
more points ininfrastructure (1) than A-one whereas A-one received more points in placement quality (P) than Education Aid.

Hence, we can say that reputation’'s weight should be greater than infrastructure. i.e. 1>P
So basically there are two possible cases:R>1>P>For R>1>F>P

Case 1: Order of weights assigned=R>1>P>F

R=0.4,1=03.P=0.2,F=0.1

In this case overall score received by Best Ed = 0.1*40+0.4*30+0.2*20+0.3*20 = 26

In this case overall score received by High Q = 0.1*30+0.4*20+0.2*20+0/3*40 = 27

We can see that High Q's overall score is higher than Best Ed. Hence, this is a possible case.
Case 2: Order of weights assigned=R>1>F>P

R=04,1=03.P=0.1,F=0.2

In this case overall score received by Best Ed = 0.2*40+0.4*30+0.1*20+0.3*20 = 28

In this case overall score received by High Q = 0.2*30+0.4*20+0.1%*20+0.3*40 = 28

We can see that High Q's overall score is not greater than the overall séore received Best Ed. Hence, this case is not possible.

Now that we know the weight of each parameter, we can calculate the overall score and accreditation received by each college.

F(0.1) R (0.4) P (0.2) 1{0.3) |Overall score|Accreditation

BA-one 50 50 50 a0 a7 AAA
Best Ed a0 30 20 20 26 BBA
Cosmopolitan 40 20 20 30 25 BBA
Dominance 20 20 40 30 27 BBA
Education Aid 50 50 40 50 48 AAA
Fancy 50 50 40 40 a5 AAA
Global 30 0 20 20 13 Junk
HighQ 30 20 20 a0 27 BBA

We can see that weight of the faculty quality parameter = 0.1. Hence,option D is the correct answer.
Question 44

How many colleges receive the accreditation of AAA?~
Answer:3

Explanation: |
It is given that: High Q > Best Ed > Gosmopolitan and Education Aid > A-one

We can say that High Q > Cosmopolitan

We can see that both High Q and Cosmopolitan got same points in reputation (R) and placement quality (P). High Q received more points
in infrastructure (1) th‘ah_CosmopoIitan whereas Cosmopolitan received more points in faculty Quality (F) than High Q.

Hence, we can say that Infrastructure's weight should be greater than Faculty quality.i.e. |>F

Similarly, We ¢an see that both Best Ed and Cosmopolitan got same points in faculty Quality (F) and placement quality (P). Best Ed
received more points in reputation (R) than Cosmopolitan whereas Cosmopolitan received more points in infrastructure (1) than Best Ed.

Hence, we can say that reputation’'s weight should be greater than infrastructure. i.e. R >

Similarly, We can see that both Education Aid and A-one got same points in faculty Quality (F) and reputation (R). Education Aid received
more points in infrastructure (1) than A-one whereas A-one received more points in placement quality (P) than Education Aid.

Hence, we can say that reputation’'s weight should be greater than infrastructure. i.e. 1>P
So basically there are two possible cases:R>1>P>For R>1>F>P

Case 1: Order of weights assigned=R>1>P >F

R=04,1=03.P=0.2,F=0.1 _

In this case overall score received by Best Ed = 0.1*40+0.4*30+0.2*20+0.3*20 = 26

In this case overall score received by High Q = 0.1*30+0.4*20+0.2*20+0.3*40 = 27

We can see that High Q's overall score is higher than Best Ed. Hence, this is'a possible case.
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Case 2: Order of weights assigned=R>1>F>P

R=04,1=03.P=0.1,F=0.2

In this case overall score received by Best Ed = 0.2*40+0.4*30+0.1%20+0.3*20 = 28

In this case overall score received by High Q = 0.2*30+0.4*20+0.‘I*20+6.3*40 =28

We can see that High Q's overall score is not greater than the overall score received Best Ed. Hence, this case is not possible.

Now that we know the weight of each parameter, we can calculate.the.overall’'score and accreditation received by each college.

F(0.1) R (0.4) P (0.2) 1{0.3) |Overall score|Accreditation
A-one 50 50 50 40 a7 AMA
Best Ed 40 30 20 20 26 BBA
Cosmopolitan 40 20 20 30 25 BBA
Dominance 20 20 40 30 27 BBA
Education Aid 50 50 40 50 48 AMA
Fancy 50 50 40 40 45 AMA
Global 30 0 20 20 13 Junk
HighQ 30 20 20 40 27 BBA

From the table, we can see that three received the accreditation of AAA.

About CAT exam

Question 45

What is the highest overall score among the'eight colleges ?
Answer:48

Explanation: ;
Itis given that: High Q >Best.-Ed > Cosmopolitan and Education Aid > A-one

We can say that High Q > Cosmopolitan

We can see that both High Q and Cosmopolitan got same points in reputation (R) and placement quality (P). High Q received more points
in infrastructure (1) than Cosmopolitan whereas Cosmopolitan received more points in faculty Quality (F) than High Q.

Hence, we can'say that Infrastructure’'s weight should be greater than Faculty quality. i.e. 1>F

Similarly, We cén seethat both Best Ed and Cosmopolitan got same points in faculty Quality (F) and placement quality (P). Best Ed
received more points in reputation (R) than Cosmopolitan whereas Cosmopolitan received more points in infrastructure () than Best Ed.

Hence, we can say that reputation's weight should be greater than infrastructure. i.e. R>1

Similarly, We can see that both Education Aid and A-one got same points in faculty Quality (F) and reputation (R). Education Aid received
more points in infrastructure (1) than A-one whereas A-one received more points in placement quality (P) than Education Aid.

Hence, we can say that reputation’'s weight should be greater than infrastructure. i.e/ 1>P
So basically there are two possible cases:R>1>P>For R>1>F>P

Case 1: Order of weights assigned=R>1>P >F

R=0.4,1=03.P=0.2,F=0.1

In this case overall score received by Best Ed = 0.1*40+0.4*30+0.2*20+0.3*20 = 26

In this case overall score received by High Q = 0.1%30+0.4%20+0.2%20+0.3*40 = 27

We can see that High Q's overall score is higher than Best Ed. Hence, this is a possible case.
Case 2: Order of weights assigned =R>1>F>P :
R=04,1=03.P=0.1,F=0.2

In this case overall score received by Best Ed = 0.2*40+0.4*30+0.1*20+0.3*20'= 28

In this case overall score received by High Q = 0.2*30+0.4*20+0.1*20+0.3%40 = 28

We can see that High Q's overall score is not greater than the overall score received Best Ed. Hence, this case is not possible.

Now that we know the weight of each parameter, we cancalculate the overall score and accreditation received by each college.
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F(0.1) R (0.4) P (0.2) 1{0.3) |Overall score|Accreditation
A-one 50 50 50 40 a7 AAA
Best Ed 40 30 20 20 26 BBA
Cosmopolitan 40 20 20 30 25 BBA
Dominance 20 20 40 30 27 BBA
Education Aid 50 50 40 50 A8 AAA
Fancy 50 50 40 40 45 AAA
Global 30 0 20 20 13 Junk
HighQ 30 20 20 40 27 BBA

From the table we can see that Education-Aid-scored the highest overall score = 48.
Question 46

How many colleges have overall scores between 31 and 40, both inclusive?

Answer: A

Explanation:
It is given that: High Q > Best Ed > Cosmopolitan and Education Aid > A-one

We can say that High Q > Cosmopolitan

We can see that both High Q and Cosmopolitan got same points in reputation (R) and placement quality (P). High Q received more points
in infrastructure (1) than Cosmopolitan whereas Cosmopolitan received mefte points in faculty Quality (F) than High Q.

Hence, we can say that Infrastructure's weight should be greater than Faculty quality. i’e. 1>F

Similarly, We can see that both Best Ed and Cosmopolitan got same paints in faculty Quality(F) and placement quality (P). Best Ed
received more points in reputation (R) than Cosmopolitan whereas Cosmopolitan.réceived more points in infrastructure (1) than Best Ed.

Hence, we can say that reputation's weight should be greater than infrastructure. ie. R>I

Similarly, We can see that both Education Aid and A-one got same points in faculty.Quality (F) and reputation (R). Education Aid received
more points in infrastructure (1) than A-one whereas A-one received more points'inplacement quality (P) than Education Aid.

Hence, we can say that reputation’'s weight should be greater than infrastructure. i.e. 1>P
So basically there are two possible cases:R>1>P>For R>1>F>P

Case 1: Order of weights assigned=R>1>P>F

R=04,1=03.P=0.2,F=0.1

In this case overall score received by Best Ed = 0.1*4040.4*30+0.2*20+0.3*20 = 26

In this case overall score received by High Q"=.0:1*30+0.4*20+0.2*20+0.3*40 = 27

We can see that High Q's overall score is higher than'Best Ed. Hence, this is a possible case.
Case 2: Order of weights assigned=R>1>F >P

R=04,1=0.3.P=0.1,F=0.2

In this case overall score received by Best Ed = 0.2*40+04*30+0.1*20+0.3*20 = 28

In this case overall score received by High'Q = 0.2*30+0.4*20+0.1*20+0.3*40 = 28

We can see that High Q's overall score is not-greater than the overall score received Best Ed. Hence, this case is not possible.

Now that we know the weight of each.parameter, we can calculate the overall score and accreditation received by each college.
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F(0.1) R (0.4) P (0.2) 1({0.3) |Overall score|Accreditation
A-one 50 50 50 40 a7 AAA
Best Ed 40 30 20 20 26 BBA
Cosmopolitan 40 20 20 30 25 BBA
Dominance 20 20 40 30 27 BBA
Education Aid 50 50 40 50 A8 AAA
Fancy 50 50 40 40 45 AAA
Global 30 0 20 20 13 Junk
HighQ 30 20 20 40 27 BBA

From the table we can see that none of the mentioned college received an overall scores between 31 and 40, both inclusive. Hence,
option A is the correct answer.

Instructions

Fun Sports (FS) provides training in three sports - Gilli-danda (G), Kho-Kho (K), and Ludo (L). Currently it has an enrollment of 39 students
each of whom is enrolled in at least one of the three sports. The following details are known:

1. The number of students enrolled only in L is double the number of students enrolled in-all'the.three sports.

2. There are a total of 17 students enrolled in G.

3. The number of students enrolled only in G is one less than the number of students enrolled only in L.

4. The number of students enrolled only in K is equal to the number of students who aré enrolled in both K and L.

5. The maximum student enrollment is in L.

6. Ten students enrolled in G are also enrolled in at least one more sport.

Question 47

What is the minimum number of students enrolled in both G and L but not in K?
Answer:4

Explanation:
Let 'x' be the number of students enrolled in all three sports. Then the-number of students enrolled only in L = 2x

It is given that there are a total of 17 students enrolled in,G. Also, ten students enrolled in G are also enrolled in at least one more sport.
Hence, the number of students enrolled inonly G=17-10 =7

G K

VA

L

The number of students-enrelled only in G is one less than the number of students enrolled only in L. Hence, the number of students
enrolled only in L = 7+1

= 2x=8
=x=4
Let us assumeithat 'y’ students are enrolled in K and L but not G. Then, the number of students enrolled only in K=y + 4

Let us assume that*z"be the the number of students enrolled in G and K but not L. Then, the number of students enrolled G and L bot not
K=10-4-z=6-2
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L

It is given that a total of 39 students in the sparts.
7+z+4+6-z+8+y+y+4=39

=vy=5

G K

L

Number of stddents enrolled in G =17

Number of students enrolled inK=9+4+5+z=18+2

Number of students enrolledinL=6-z+4+5+8=23-z2

It is given that the maximum student enrollment is in L.

= 23-z>18+z

= 2z<5

=2z<25

Therefore, we can say that z can take three values = {0, 1, 2}

The number of students enrolled in both G and L but not in K = 6 - z. This number will b€ minimum when 'z’ is maximum. z_{max} = 2

Therefore, the minimum number of students enrolled in both G and L but notinK=6-2=4

Know the CAT Percentile Required for IIM Calls

Question 48

If the numbers of students enrolled in K and L are in the ratio 19:22, then what is'the number of students enrolled in L?

A 18
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Answer: C
Explanation:

Let 'x' be the number of students enrolled in all three sports. Then the number of students enrolled only in L = 2x

It is given that there are a total of 17 students enrolled in G. Also, ten students enrolled in G are also enrolled in at least one more sport.
Hence, the number of students enrolled in only G=17-10 =7

G K

VA

L

The number of students enrolled only in G is one less than the number of students enrolled only in L. Hence, the number of students
enrolled only in L = 7+1

=2x=8
=x=4
Let us assume that'y' students are enrolled in K and L but not G. Then, the number of students.enrolled only in K=y + 4

Let us assume that 'z' be the the number of students enrolled in G and K but not L./ Then, the number of students enrolled G and L bot not
K=10-4-z=6-z

G K

AVh

L

It is given that a total of 39 students in the sports.
7+z+4+6-z+8+y+y+4=39

=y=5
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VA

L

Number of students enrolled in G =17

Number of students enrolledinK=9+4+5+z=18+z
Number of students enrolledinL=6-z+4+5+8=23-z2
It is given that the maximum student enrollment is in L. y- o
=23-2>18+2 I p
= 2z<5

=2z<25 . _‘*3
Therefore, we can say that z can take three values = {0, 1, 2} R

It is given that the numbers of students enrolled in K and L are in the ratio 19:22)

18+2z 19
23 —z =22

z =1 which is a possible solution as well. J
In this case the number of students enrolledinL=23-z=23-1 = 22;'_Henc"é,'"option C is the correct answer.
Question 49

Due to academic pressure, students who we'rfe»e_nrolled'ir'\ all three sports were asked to withdraw from one of the three sports. After
the withdrawal, the number of students enrolled-in'G.was ‘sixl_e,é’s'.tha'n the number of students enrolled in L, while the number of
students enrolled in K went down by one. After the Withdiawal, how many students were enrolled in both G and K?

Answer:2

Explanation: I
Let 'x' be the number of students enrolled 'i-n""’all three sports. Then the number of students enrolled only in L = 2x

It is given that there are a total of 17 students enrolled'in G. Also, ten students enrolled in G are also enrolled in at least one more sport.
Hence, the number of students enrolled inonly G=17-10=7
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aVa

L

The number of students enrolled only in G is one less than the number of students enrolled only in L. Hence, the number of students
enrolled only in L = 7+1

= 2x=8
=x=4
Let us assume that'y' students are enrolled ifitK and L but not G. Then, the number of students enrolled only in K=y + 4

Let us assume that 'z' be the the number of students enrolledin G and K but not L. Then, the number of students enrolled G and L bot not
K=10-4-z=6-z

G K

AVh

L

It is given that'atotal of 39 students in the sports.
7+z+4+6-{z+8+y+y+4=39

=y=5
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VA

L

Number of students enrolled in G =17

Number of students enrolledinK=9+4+5 -.Fz =18+z

Number of students enrolled inL=6-z+4+5+8=23-2

It is given that the maximum stL.id.ent é_nrol,lme.nt isinL.

= 23-z>18+z )

= 2z<5

=z<25

Therefore, we can say that z can take three values = {0, 1, 2}
Hence, the number of studen-ts eﬁrolled inK=18+2z={18,19, 20}

Itis given that’lafter withdrawal the number of students enrolled in K went down by one. This one student must have left sports K. Hence
we can say that the remaining 3 students must have left either G or L.

Before withdl_'_aw there were'a total of 24 students were enrolled in exactly 1 sports, 11 students were enrolled in exactly 2 courses and 4
students were enfolledin all three courses.

The students which were enrolled in all three sports, withdrew from one of the sports. Hence, we can say that now the number of
students who were enrolled in exactly 2 courses =11 +4 = 15.

It is given that the number of students enrolled in G was six less than the number of students enrolled in L. Let 'a’ be the number of
students who were enrolled in G and K but not L. Then, the number of students who‘were enrolled in Land Kbut notG=a +5

Consequently, we can say that the number of students enrolled in G and L butnot K= 15-(2a+ 5)=10-2a

G K

AVA

L

Number of students enrolled in this case = a + a+5+9 = 14 +2a:We can see that '14+2a' is an even number. It is given that the number of
students enrolled in K went down by one. Therefore, we'ean say that the number of students enrolled in K earlier was an odd number.

Hence, the number of students enrolled in K= 18 + z = {1 8,' 19, 2_0}
We can see that only 19" is an odd number.;Hence, we can say that the number of students enrolled in K after withdrawal = 18
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= 14+2a=18

=a=2

G K

NN

L

From the diagram we can see that the number of students enrolled in both G and K = 2.
Question 50

Due to academic pressure, students who were enrolled in all three sports were asked to withdraw from one of the three sports. After
the withdrawal, the number of students enrolled in G was six less than the number of students enrolled in L, while the number of
students enrolled in K went down by one. After the withdrawal, how many students were enrolled in both G and L?

D 8

Answer: A

Explanation:
Let 'x' be the number of students enrolled in all three sports. Then.the.number/of students enrolled only in L = 2x

It is given that there are a total of 17 students enrolled in G. Also, ten students enrolled in G are also enrolled in at least one more sport.
Hence, the number of students enrolled inonly G=17-(10=7

G K

aVa

L

The number of students enrolled only in G is one less than the number of students enrolled only in L. Hence, the number of students
enrolled only inL =7+1 "
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= 2x=8
=x=4
Let us assume that'y' students are enrolled in K and L but not G. Then, the number of students enrolled only in K=y + 4

Let us assume-that-'z-beé the the number of students enrolled in G and K but not L. Then, the number of students enrolled G and L bot not
K=10-4-z=6-2

G K

L

It is given that a total of 39 students in the sports.
7+z+4+6-z2+8+y+y+4=39

=y=5

G K

L

Number of students enrolled in G =17

Number of students ‘enrolled inK=9+4+5+z=18+z2

Number of students enrolledint=6-z+4+5+8=23-z2

It is given that,the maximum student enrollment is in L.
=23-z>18+z

= 2z<5

=27z<25

Therefore, we can say that z can take three values = {0, 1, 2}
Hence, the number of students enrolled in K=18 + z={18, 19, 20}

It is given that after withdrawal the number of students enrolled in K went down by.0ne. This one student must have left sports K. Hence
we can say that the remaining 3 students must have left either G or L.

Before withdraw there were a total of 24 students were enrolled in exactly A" sports, 11 students were enrolled in exactly 2 courses and 4
students were enrolled in all three courses.
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The students which were enrolled in all three sports, withdrew from one of the sports Hence ‘we'can say that now the number of
students who were enrolled in exactly 2 courses =11 +4 = 15.

It is given that the number of students enrolled in G was six less than/the humbef/of stud\ents enrolled in L. Let a' be the number of
students who were enrolled in G and K but not L. Then, the number of'students who were'_enrolled inLand KbutnotG=a+5

Consequently, we can say that the number of students enrolled in G and L but notK=15- (2a+5)=10-2a

G K

L

Number of students enrolled in this case = a + a+5 + 9 = 14 + 2a. We can see that '"14+2a' is an even number. It is given that the number of
students enrolled in K went down by one. Therefore, we can say that the number of students enrolled in K earlier was an odd number.

Hence, the number of students enrolle'd -.inK =18+2z={18,19, 20}
We can see that only '19'is an-odd n'umber."l-'l_ence, we can say that the number of students enrolled in K after withdrawal = 18
= 14+2a=18

=a=2

G K

L

From the diagram we can see that the number of students enrolled in both G and L =”€V>."Hence,soption A is the correct answer.

How to prepare for LogicaliReasoning for CAT
Instructions )

According to a coding scheme the sentence:

"Peacock is designated as the national bird of India" is coded as 5688999.35-1135556678 56 458 13666689 1334 79 13366
This coding scheme has the following rules: D )
a: The scheme is case-insensitive (does not distinguish between upper case and lower case letters).

b: Each letter has a unique code which is a single digit from among 1,2,3, ...,

Downloaded from cracku.in


https://cracku.in/blog/how-to-prepare-for-logical-reasoning-for-cat/
https://cracku.in

c: The digit 9 codes two letters, and every other digit codes three letters.
d: The code for a word is constructed by arranging-the digits.corresponding to its letters in a non-decreasing sequence.

Answer these questions on the basis of this information.
Question 51

What best can be concluded about the code for the letter L?

C 1or8

D 6

Answer: A

Explanation:

Peacock | is | designated | as the national bird of India
5688999 [ 35 | 1135556678 | 56 458 13666689 | 1334 79 13366

We can see that India's code is 13366 therefore we can say that I's code is either 3 or 6.
Also, we can see that code for word "is" is 35 therefore we can say that I's code is 3. Consequently, we can say that S's code is 5.
Also, we can,see that code of word 'as' is 56 therefore we can say that A's code is 6. Consequently, we can say that S's code is 5.

There is only one-letter*0’' common in words 'of' and 'national’. In code word as well only digit '9' is common in both. Hence, we can say
that letter 'O’ is assigned numerical '9'. Consequently, we can say that F is assigned number 7.

1 2 3 4 5 [ 7 8 9
Letters | 5 A F o

Itis given that '9' is assigned to only two alphabets one of them is 'O". We can see that there are three 9's in Peacock's code. One of the
digit '9' is used for '0".Remaining two 9's must represent same letter. We can see'that only letter 'C' has appeared twice in Peacock.
Therefore, we can say that 'C' is assigned number '9'.

In word national 'N' has appeared twice. In code only digit '6' has appearéd more than once. Hence, we can say that code of letter N is '6'.
Consequently, we can say that code for letter 'D' is '1' because in India rest of the numerals are already taken.

1 2 3 4 5 [} 7 8 a9
Letters D | s N, A F C,0

In words, 'the' and 'national’ only letter 't' is common. In code as well only'digit.'8! is common in two codes. Hence, we can say that letter
code for letter 't'is 8.

In words, 'the' and 'peacock’ only letter 'e'is common. In code as well only digit '5'is common in two codes. Hence, we can say that letter
code for letter 'e' is 5. Consequently, we can say that leftover letterin'word "the", 'H's code is 4.

1 2 3 4 5 6 7 8 9
Letters D 1 H 5 E N, A F T C,0

We can see that code for word "NATIONAL" is 13666689. Hence, we ean say that code for the letter L is '1'. Hence, option A is the correct
answer.

Question 52

What best can be concluded about the code for'the letter B?

A 3or4

B Tor3or4

D 3

Answer: A

Explanation:
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Peacock | is | designated | as the national bird of India
5688000 [ 35 | 1135556678 | 56 458 13666689 | 1334 79 13366

We can see that India's code is 13366 therefore we can say that I's code is either 3 or 6.
Also, we can see that'code.for word "is" is 35 therefore we can say that I's code is 3. Consequently, we can say that S's code is 5.
Also, we can see that code of'word 'as' is 56 therefore we can say that A's code is 6. Consequently, we can say that S's code is 5.

There is only one letter '0' common in words 'of' and 'national’. In code word as well only digit '9' is common in both. Hence, we can say
that letter 'Ofis assigned numerical '9'. Consequently, we can say that F is assigned number 7.

i 2 3 4 5 6 7 8 9
Letters I 5 A F o

It is given that '9"is assigned to only two alphabets one of them is 'O". We can see that there are three 9's in Peacock's code. One of the
digit '9' is used for '0".Remaining two 9's must represent same letter. We can see that only letter 'C' has appeared twice in Peacock.
Therefore, we can say that 'C' is assigned number '9'.

In word national 'N' has appeared twice. In code only digit '6' has appeared more than once. Hence, we can say that code of letter N is '6'.
Consequently, we can say that code for letter 'D'is '1' because in India rest of the ndmerals are already taken.

1 2 3 4 5 3] 7 8 a9
Letters D | 5 N, A F c,0
In words, 'the' and 'national’ only letter 't is common. In code as well only digit ‘8" is’common in two codes. Hence, we can say that letter
code for letter 't'is 8.

In words, 'the' and 'peacock’ only letter 'e'is common. In code as well only digit '5' issecommon in two codes. Hence, we can say that letter
code for letter 'e' is 5. Consequently, we can say that leftover letter, in'word "the’/'H's code,is 4.

1 2 3 4 5 6 7 8 9
Letters D 1 H 5 E N, A F T C,0

We can see that code for word "NATIONAL" is 13666689. Hence, we.can say that'code for the letter L is '1".

1 2 3 4 5 6 7 8 9
Letters LD 1 H S, E N, A F T C,0
We can see that code for word "BIRD" is 1334. 1 corresponds“o BD.and one 3 corresponds to |. Hence, we can say that code for letters 'R’
and 'B' are '3' and '4' in any order.

Therefore, we can say that for letter 'B' there are two possible numbers: 3 or 4
Hence, option A is the correct answer.
Question 53

For how many digits can the complete list of letters associated with that digit be identified?

D 3

Answer: B

Explanation:

Peacock | is | designated | as the national bird of India
5688099 [ 35 1135556678 56 458 13666689 | 1334 79 13366

We can see that India's'eode.is 13366 therefore we can say that I's code is either 3 or 6.
Also, we can see that code for ward "is" is 35 therefore we can say that I's code is 3. Consequently, we can say that S's code is 5.
Also, we can see that code of word 'as' is 56 therefore we can say that A's code is 6. Consequently, we can say that S's code is 5.

There is only one letter '0' ggmmon in words 'of' and 'national’. In code word as well only digit '9' is common in both. Hence, we can say
that letter '0is assigned numerical '9'. Consequently, we can say that F is assigned number 7.

1 2 3 4 5 [ 7 8 9
Letters | 5 A F 0

It is given that '9' is assigned to only two alphabets one of them is 'O". We can see that there are three 9's in Peacock's code. One of the
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digit '9' is used for '0".Remaining two 9's must represent same letter. We can see that only letter 'C' has appeared twice in Peacock.
Therefore, we can say that 'C' is assigned number '9'.

In word national 'N' has appeared twice. In code only digit '6' has appeared more‘than once. Hence, we can say that code of letter N is '6'.
Consequently, we can say that code for letter 'D' is '1' because in India rest of'the numerals are already taken.

1 2 3 4 5 [ 7 8 9
Letters D | s N, A F C,0

In words, 'the' and 'national’ only letter 't is common. In code as well only digit ‘8" is comimoen-intwo codes. Hence, we can say that letter
code for letter 't' is 8.

In words, 'the' and 'peacock’ only letter 'e' is common. In code as well only.digit '5'is common in two codes. Hence, we can say that letter
code for letter 'e' is 5. Consequently, we can say that leftover letter, in word “the", 'H's-code is 4.

1 2 3 4 5 [ 7 8 9
Letters D 1 H 5 E N, A F T C,0

We can see that code for word "NATIONAL" is 13666689. Hence, we can say that code for the letter L is '1".

1 2 3 4 5 6 7 8 9
Letters LD 1 H S, E N, A F T c,0
We can see that code for word "DESIGNATED" is 1135556678. Hence, wecan say that code for the letter 'G'is 7.

1 2 3 4 5 6 7 8 9
Letters LD 1 H 5 E N, A G,F T C,0

We can see that code for word "PEACOCK" is 5688999..Hence, we can say that code for the letters 'P' and 'K' is '8'".

1 2 3 4 5 6 7 8 9
Letters LD | H 5 E N, A G,F TP K C,0
Digit 1" is used for L and D only. We can not figure out the third letter for which digit 1 is used.

Digit '2'is not used for any letter. Hence, we can not figur€jout all the letters for which digit 2 is correct code.

Digit ‘3" is used for letter 'I' only. Hence, we ean.not figure out all the letters for which digit 3 is correct code.

Digit '4' is used for letters 'H' and one of 'B' and 'R". Hence, we can not figure out all the letters for which digit 4 is correct code.
Digit '5' is used for letters 'S' and/E'. We.can not figure out the third letter for which digit 5 is used.

Digit '6' is used for letters 'A" and 'N'. We can not figure out the third letter for which digit 6 is used.

Digit 7' is used for letters 'G' and 'F'.| We can'not figure out the third letter for which digit 7 is used.

Digit '8' is used for letters 'T', 'P' and K."Hence, we can say that this is one of the digit for which the complete list of letters associated is
known.

Digit '9' is used for letters '€ and 'O'". Hence, we can say that this is one of the digit for which the complete list of letters associated is
known.

Therefore, we can say that for only two digits (8 and 9), the complete list of letters associated is known. Hence, option B is the correct
answer.

Data Interpretation for CAT Questions (download pdf)

Question 54

Which set of letters CANNOT be coded with the same digit?
A SEZ
B |BM

C SuUvV

D XYZ

Answer: C

Explanation:
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Peacock | is | designated | as the national bird of India
5688000 [ 35 | 1135556678 | 56 458 13666689 | 1334 79 13366

We can see that India's code is 13366 therefore we can say that.l's-code is either 3 or 6.
Also, we can see that code for word "is" is 35 therefore we can say that{'s.code is 3. Consequently, we can say that S's code is 5.
Also, we can see that code of word 'as' is 56 therefore we can say that A's code is 6. Consequently, we can say that S's code is 5.

There is only one letter '0' common in words“ef"and 'national’. In.code word as well only digit '9' is common in both. Hence, we can say
that letter 'O’ is assigned numerical '9'. Consequently, we can-say that F is assigned number 7.

1 2 3 4 5 [ 7 8 9
Letters | s A F 0
It is given that '9' is assigned to only two alphabets one of them is 'O". We can see that there are three 9's in Peacock's code. One of the
digit '9' is used for '0".Remaining two 9's must represent same letter. We can see that only letter 'C' has appeared twice in Peacock.
Therefore, we can say that 'C' is assigned number '9".

In word national 'N' has appeared twice. In code only digit '6' has appeared more than once. Hence, we can say that code of letter N is '6'.
Consequently, we can say that code for letter 'D'is '1' because in India rest of the numerals are already taken.

1 2 3 4 5 [ 7 8 a9
Letters D | ] N, A F C,0

In words, 'the' and 'national’ only letter 't' is common. In code as well only digit '8' is common in two codes. Hence, we can say that letter
code for letter 't'is 8.

In words, 'the' and 'peacock’ only letter 'e' is common. In code as well only digit '5' is common in two codes. Hence, we can say that letter
code for letter 'e'is 5, Consequently, we can say that leftover letter, in word "the", 'H's code is 4.

1 2 3 4 5 6 7 8 9
Letters D 1 H 5 E N, A F T C,0

We can see that code for word "NATIONAL" is 13666689. Hence, we can say that code for the letter L is '1".

1 2 3 4 5 [ 7 8 9
Letters LD 1 H S, E N, A F T C,0

We can see that.code for word "DESIGNATED" is 1135556678. Hence, we can say that code for the letter 'G'is '7'.

1 2 3 4 5 6 7 8 9
Letters L, D 1 H 5 E N, A G,F T C,0

We can see that code for word "PEACOCK" is 5688999. Hence, we can say that code for the letters 'P' and 'K' is '8'".

1 2 3 4 5 [3 7 2 9
Letters LD | H S, E N, A G,F T,PK c,0
Let us check this by options:

(A) SE,Z: If letter 'Z' is assigned code '5' then this case is possible.
(B) 1,B,M: If letters 'B' and 'M' are assigned code '3 then this case is possible;

(C) S,U,V: If letters 'U' and 'V' are assigned code '5' then this case is possible.But in-that'case digit 5 will have 4 letters associated with it
which is not possible. Hence, this is the answer.

(D) XY, Z: If letters 'X','Y" and 'Z' are assigned code '2' then this case is possible:
Instructions

Each of the 23 boxes in the picture below represents a product manufactured by one of the following three companies: Alfa, Bravo and
Charlie. The area of a box is proportional to the revenue from the correspending product, while its centre represents the Product
popularity and Market potential scores of the product (out of 20). The shadings-of some of the boxes have got erased.

Downloaded from cracku.in


https://cracku.in

2
M Z
16--HH
14
2 12 %
=
g
[=]
g & M |
g 7 Rl B I
o g fa / il
M 7
: 7 - - Vi
S
Nmrermrewen,
2 I } s—
(4] 2 4 5] 8 10 12 14 16 13 20

Product popularity

Arf a Eﬂra\ro

The companies classified their products into four categories based on a combination of scores (out of 20) on the two parameters -

[Mcoatie

Product popularity and Market potential as given below:

Promising | Blockbuster | Doubtful | No-hope
Product popularity score =10 =10 =10 <10
Market potential score =10 <10 =10 <10

The following facts are known:

0O Noo A~ WN =

Question 55

. Alfa and Bravo had the same number of products in the Blockbuster category.
. Charlie had more products than Bravo but fewer products than Alfa in the No-hope category.

. Each company had an equal number of products in the Promising-category.

. Charlie did not have any product in the Doubtful category, while Alfa had.one product more than Bravo in this category
. Bravo had a higher revenue than Alfa from products in the Doubtful category:

. Charlie had a higher revenue than Bravo from products in the Bleckbuster category.
. Bravo and Charlie had the same revenue from products in the No-hope-category.

. Alfa and Charlie had the same total revenue considering all products.

Considering all companies' products, which product category-had the highest revenue?

A No-hope
B Blockbuster
C Doubtful

D Promising

Answer: B

Explanation:

Let us divide the given figure in four quadrants (Q1, Q2, Q3, Q4).
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Let us solve this problem by considering only one category at a time.

[Mcnarie

(A) Blockbuster category: We have two information regarding Blockbuster category.

1. Alfa and Bravo had the same number of preducts in the Blockbuster category.

There are a total of 7 products in Blockbuster category, Alfaalready has two products in blockbuster category. If Alfa has 3 products
in blockbuster category then Bravo will also have 3 products in Blockbuster category which is not possible as there are 2 products of
Charlie. Hence, we can say that Alfa and Bravo have 2 produetseach in Blockbuster category whereas Charlie has 3 products in

Blockbuster category.

2. It is also given that Charlie had a higherjrevenue than Bravo from products in the Blockbuster category.

mn 4 - - )
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Blockbuster

We know that one of the preduct 1 and 2 is from Charlie and the other is from Bravo.

If product 1 is from Charlie, then we can say that products 1, 7 and 5 are from Charlie. Therefore, revenue generated by products in

Charlie category-= 2+ 4.+ 6 = 12 units. (Assuming area of a square to be 1 unit)

In this case product 2 and product n are from Bravo.Therefore, revenue generated by products in Bravo category = 6 + 9 = 15 units.
We can see that products from Charlie have a higher revenue than Bravo. Hence, this case in not possible.

Therefore, we can say that Product 1 is from Bravo and Product 2 is from Charlie. Wethave determined each product's company name in

Blockbuster category.

(B) No-hope category: We have two information regarding No-hope category:

(1) Charlie had more products than Bravo but fewer products than Alfa in the No-hope ¢ategory: Bravo and Charlie had the same revenue

from products in the No-hope category.There are a total of 6 products in nd—hope category.
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Therefore, we can say that Alfa, Charlie and Bravo have 3, 2 and 1 products'in No-hope é‘a’gegory in that order.
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Bravo and Charlie had the same revenue from products in-the.No-hope category.

Revenue generated for Bravo in the No-hope category = 4 units. We need same revenue for Charlie which ha s 2 products in this category.

Hence, we can say that Product 10 and one’of product 8 and 9 is from Charlie and other is from Alfa. Let's assume that product 8 is from
Charlie and product 9 is from Alfa.

(C) Doubtful category: We have two inforrﬁ_étion regarding Doubtful category.

(7). Charlie did not have any product in the Doubtful c'atégory, while Alfa had one product more than Bravo in this category .

(2). Bravo had a higher revenue than Alfa from products in the Doubtful category.

We can see that there are a totél'éf 7f|5,ro.d_l_Jcts_ in this category. Hence, we can say that 4 products are from Alfa and 3 products are from
Bravo. L V<
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We can see that oneof product 14, 15 and 16 is from Bravo company and others are from Alfa company. Bravo will have higher revenue
than Alfa only when product no. 14 is from Bravo and others (15 and 16) are from Alfa category.

In this case total revenue by Bravo = Product 14 + Product 19 + Product20=9+6+2=17
Similarly, total revenue by Charlie = Product 15 + Product 16 + Product 17 + Product18=6+1+1+4=12
(D) Promising category: We have only 1 direct information regarding Promising cétegory.

1. Each company had an equal number of products in the Promising categor';}.

W4y

. Promising

w b=
1 =)
H

There are a total of 3 products in promising category with diffétgnt revenue. Therefore, we can say that each company had 1 product in
promising category. We are given that Alfa and Charlie had the same total révenue considering all products. We can calculate the revenue
generated by Alfa and Charlie from the products in categories.
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Revenue generated by Charlie from all categories except Promising = From Blockbuster + From No-hope + From Doubtful
= (9+6+2) + (3+1) + (0) = 21 units

Revenue generated by Alfa from all categories except Promising = From Blockbuster'+ From No-hope + From Doubtful
= (6+3) + (442+1) + (1+6+4+1) = 28 units

We can see the difference between revenue generated by Charlie and Alfa from remaining categories is 7 units. Hence, we can say that
Charlie's product's revenue should be 7 units more than Alfa's product's revenue in Promising category. That is possible only in one case
where product 22 is from Charlie and product 21 is form Alfa. Consequently, we can say that'product 23 is from Bravo. Now we have
identified each product's company name we can answer all the questions:.
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Revenue generated by the praducts in Promising category = 2 + 9 + 3 = 14 units.

Revenue generated by the products in:Doubtful category =1+9+4+6+2+ 1+ 6 = 29 units.
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Revenue generated by the products in No-hope category =4+4+3+2+1+1 =15 units.
Revenue generated by th_e-products in Blockbuster category =6 +3+6+2+4 + 6 + 9 = 36 units.

We can see that the revenue génerated is the highest for Blockbuster category. Hence, option B is the correct answer.

Question 56

Which of the following is the correct sequence of numbers of products Bravo had in No-hope, Doubtful, Promising and Blockbuster
categories respectively?

A 1312
B 1313
C 3312

D 2312

Answer: A

Explanation:
Let us divide the given figure in four quadrants (Q1, Q2, Q3, Q4).
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Let us solve this problem by considerin'g only one category at a time.
(A) Blockbuster category: Wé have two information regarding Blockbuster category.
1. Alfa and Bravo had the same number-of products in the Blockbuster category.

There are a total of 7 products in Blockbuster category. Alfa already has two products in blockbuster category. If Alfa has 3 products
in blockbuster category. then Bravo will also have 3 products in Blockbuster category which is not possible as there are 2 products of
Charlie. Hence, we can say that-Alfa and Bravo have 2 products each in Blockbuster category whereas Charlie has 3 products in
Blockbuster category.

2. It is also given that Charlie had a higher revenue than Bravo from products in the Blockbuster category.
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We know that one of the product 1 and 2 is from Charlie and the other i ffém Bravo.

If product 1 is from Charlie, then we can say that produgts 1, 7 and 5 are from Charlie. Therefore, revenue generated by products in
Charlie category = 2 + 4 + 6 = 12 units. (Assuming area of a square to be 1 unit)

In this case product 2 and product n are from Bravo:Thereforg, revente generated by products in Bravo category = 6 + 9 = 15 units.
We can see that products from Charlie have a higher revenue.than Bravo. Hence, this case in not possible.

Therefore, we can say that Product 1 is from Bravo and Product 2 is from Charlie. We have determined each product's company name in
Blockbuster category. '

(B) No-hope category: We have two information regarding/No-hope category.

(1) Charlie had more products than Bravo butfewer pradUcts than Alfa in the No-hope category. Bravo and Charlie had the same revenue
from products in the No-hope category.There are-a-tetal of 6 products in no-hope category.

Therefore, we can say that Alfa, Charlie and Bravo have 3, 2 and 1 products in No-hope category in that order.
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Bravo and Charlie-had the same revenue from products in the No-hope category.

Revenue generated for Bravo in the No-hope category = 4 units. We need same revenue for Charlie which ha s 2 products in this category.
Hence, we can say that Product 10 and one of product 8 and 9 is from Charlie and other is from Alfa. Let's assume that product 8 is from
Charlie and product 9 is from Alfa.

(C) Doubtful category: We have two information regarding Doubtful category.
(7). Charlie did not have any product in the Doubtful category, while Alfa had.one product more than Bravo in this category .
(2). Bravo had a higher revenue than Alfa from products in the Doubtful dategory. | '

We can see that there are a total of 7 products in this category. Hence, we can say that-4 products are from Alfa and 3 products are from
Bravo. 4 =
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6 is from Bravo company and others are from Alfa company. Bravo will have higher revenue

than Alfa only when product no. 14 is from'Bravo and others (15 and 16) are from Alfa category.

In this case total revenue by Bravo = Product 14 + Product 19 + Product20=9+6+2=17

Similarly, total revenue by Charlie="Preduct 15 + Product 16 + Product 17 + Product 18 =6 +1+1+4=12

(D) Promising category: We have only 1 direct-information regarding Promising category.

1. Each company had an equél number of praducts in the Promising category.
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There are a total of 3 products in promising category with different revenue. Therefore, we can say that each company had 1 product in
promising category. We are given that Alfa and Charlie had the same total revenue considering all products. We can calculate the revenue

| Promising

generated by Alfa and Charlie from the products in categories.

20 |
18 B % Promising
Doubtful /4
16 % E — . E o
14 E .
. 5 AFJ—_—_-.
2]
= 12
BN i ——|
g ~ A ]ll
= ! Lo f
2 8 o-et —1== f-t-
= AREET TN o Amm
jn/aamslis_tasan
F i
No - hope M Blockbuster
2 | S e o i
e =
o 2 4 6 8 1 1 14 18 2
Producthpularlty
(A Alta Bravn I]]IIChaﬂie

Revenue generated by Charlie from all categories except Promising = From Blockbuster + From No-hope + From Doubtful

= (9+6+2) + (3+1) + (0) = 21 units

Revenue generated by Alfa from all categories'except-Promising = From Blockbuster + From No-hope + From Doubtful
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= (6+3) + (4+2+1) + (1+6+4+1) = 28 units

We can see the difference between revenue-generated by Charlie and Alfa from remaining categories is 7 units. Hence, we can say that
Charlie's product's revenue should be/7 unitsimore than Alfa's product's revenue in Promising category. That is possible only in one case
where product 22 is from Charlie and'product 21 is form Alfa. Consequently, we can say that product 23 is from Bravo. Now we have
identified each product's company name we can answer all the questions.
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Bravo had in No-hope, Doubtful, Promising and Blockbuster categories respectively = 1, 3, 1, 2. Hence, option A is the correct answer.

Logical Reasoning for CAT Questions (download pdf)
Question 57

Which of the following statements is NOT correct?

A Alfa's revenue from Blockbuster products.was the same as Charlie's revenue from Promising products
B Bravo's revenue from Blockbuster products was greater-than Alfa's revenue from Doubtful products
C Bravo and Charlie had the same revenuesfrom No-hope products

D The total revenue from No-hope products was less than the total revenue from Doubtful products

Answer: B

Explanation:
Let us divide the given figure in fourquadrants (Q1, Q2, Q3, Q4).
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Let us solve this problem by considering only one category at a time.

[Mcnarie

(A) Blockbuster category: We have two information regarding Bloekbuster category.

1. Alfa and Bravo had the same number of products in-the Blockbuster category.

There are a total of 7 products in Blockbuster category. Alfa already has two products in blockbuster category. If Alfa has 3 products
in blockbuster category then Bravo will also have 3 products in Blockbuster category which is not possible as there are 2 products of
Charlie. Hence, we can say that Alfa and Bravo have 2 products each in Blockbuster category whereas Charlie has 3 products in

Blockbuster category.

2. Itis also given that Charlie had a higher revenue than Bravo from products in the Blockbuster category.
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Blockbuster

We know that oneof the product 1 and 2 is from Charlie and the other is from Bravo.

If product 1 is from Charlie, then we can say that products 1, 7 and 5 are from Charlie. Therefore, revenue generated by products in

Charlie category = 2 + 4 + 6 = 12 units. (Assuming area of a square to be 1 unit)

In this case product 2 and product n are from Bravo.Therefore, revenue generated by products in Bravo category = 6 + 9 = 15 units.
We can see that products from Charlie have a higher revenue than Bravo. Hence, this case in not possible.

Therefore, we can say that Product 1 is from Bravo and Product 2 is from Charlie. We have determined each product's company name in

Blockbuster category.

(B) No-hope category: We have two information regarding No-hope category.

(1) Charlie had more products than Bravo but fewer products than Alfa'in the No-hope category. Bravo and Charlie had the same revenue

from products in the No-hope category.There are a total of 6 products in no-hopecategory.
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Therefore, we can say that Alfa, Charlie and Bravo have 3, 2 and 1 products'in No’-h:ope Gategory in that order.
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Bravo and Charlie had the same revenue fr_or_h'products in the No-hope category.

Revenue generated for Bravo in the No-hope category = 4units. We need same revenue for Charlie which ha s 2 products in this category.

Hence, we can say that Product 10 and on"e_"’of product 8'and 9 is from Charlie and other is from Alfa. Let's assume that product 8 is from
Charlie and product 9 is from Alfa. : -

(C) Doubtful category: We have two information -reéarding Doubtful category.

(1). Charlie did not have any prloduc} |n the Doubtful category, while Alfa had one product more than Bravo in this category .

(2). Bravo had a higher revenu_é :than_!AI:fa.‘ﬁom products in the Doubtful category.

We can see that there are a total of 7 pr_odu(‘;t:s in this category. Hence, we can say that 4 products are from Alfa and 3 products are from

Bravo.
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We can see that one of product 14, 15 and 16 is from Bravo company and others are from Alfa company. Bravo will have higher revenue
than Alfa only when product no. 14 is from Bravo and others (15 and 16) are from Alfa category.

In this case total revenue by Bravo = Product 14 + Product 19 + Product20=9+6+2 =17
Similarly, total revenue by Charlie = Product 15 + Product 16 + Product 17 + Product 18=6+ 1+1+4=12
(D) Promising category: We have only 1 direct information regarding Pror’n‘isiyng category:

1. Each company had an equal number of products in the Promising categéry.

W4y
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There are a total of 3 products in promising category with different revenue. Therefore, we can say that each company had 1 product in
promising category. We are given that Alfa and Charlie had the same total revenue considering all products. We can calculate the revenue
generated by Alfa and Charlie from the proddcts.in categories.
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Revenue generated by Charlie from all categories except Promising = From Blockbuster + From No-hope + From Doubtful
= (9+6+2) + (3+1) + (0) = 21 units
Revenue generated by Alfa from all categories except Promising = From Blockbuster + From No-hope + From Doubtful
= (6+3) + (4+2+1) + (1+6+4+1) = 28 units

We can see the difference between revenue generated by Charlie and Alfa from remaining.categories is 7 units. Hence, we can say that
Charlie's product's revenue should be 7 units more than Alfa's product's revenue in Promising category. That is possible only in one case
where product 22 is from Charlie and product 21 is form Alfa. Consequently, we ¢an say.that product 23 is from Bravo. Now we have
identified each product's company name we can answer all the questions.
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Let us check all options.
Option (A): Alfa's revente from Blockbuster products was the same as Charlie's revenue from Promising products

Alfa's revenue from Blockbuster products = 6 + 3 = 9 units.
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Charlie's revenue from Promising products = 9 units. Hence, this statement is true.

Option (B): Bravo's revenue frorﬁ Blockbuster products was greater than Alfa's revenue from Doubtful products.
Bravo's revenﬁe from Blockbuster products = 6 + 4 = 10 units.

Alfa's revenue from Doubtful products = 6 + 4 +1 + 1 = 12 units. Hence, this statement is false.

Option (C): Bravorand-€harlie had the same revenues from No-hope products.

Bravo's revenue from No-hope products = 4 units.

Charlie's revenue from No-hope products = 3 + 1 = 4 units. Hence, this statement is true.

Option (D): The total revenue from No-hope products was less than the total revenue.from Doubtful products
Revenue generated by the products in Doubtful category =1+ 9+ 4+ 6+ 2 + 1 +6 = 29 units.

Revenue generated by the products in No-hope category =4 + 4 + 3+ 2 + 1.4 1 = 15 units. Henee, this statement is true.
We can see that statement mentioned in option B is false. Therefore, optionB is the cofrect answer.

Question 58

If the smallest box on the grid is equivalent to revenue of Rs.1 crore,then what approximately was the total revenue of Bravo in Rs.
crore? ‘

A 40
B 24
C 34
D 30
Answer: C
Explanation: ~0 ‘
Let us divide the given figure in four quadrants (Q1,-Q2;:Q3,Q4).
20 ; T ;
181t 7 e Promising
Doubtful W ,
I | /i 1
- -LJ -
14 -
2 12 Vﬁ% e
—8—10 .
1 7z m | l]l
= L = | i
5 s 17 ;
o
'V 88 T %
” | H
No - hope = I n Blockbuster
2 S et =
; .F

0 2 4 6 8 1 12 14 16 18 p. 4
Product popularity

AEfa Earava nmCharlie

Let us solve this problem by considering only one category at a time.

(A) Blockbuster category: We have two information regarding Blockbuster category.

1. Alfa and Bravo had the same number of products in the Blockbuster category.

There are a total of 7 products in Blockbuster category. Alfa already has two products in blockbuster category. If Alfa has 3 products

in blockbuster category then Bravo will also have 3 products in Blockbuster category which is not possible as there are 2 products of
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Charlie. Hence, we can say that Alfa and Bravo have 2 products each in Blockbuster category whereas Charlie has 3 products in
Blockbuster category. ()

2. It is also given that Charlie had a higher revenue than Bravo from products in‘the Blockbuster category.

i
1

.

B
N

Blockbuster

We know that one of the product 1 and 2 is from Charlie arrd ttte_,other is from Bravo.

If product 1 is from Charlie, then we can say that products 1, 7 and 5 are from Charlie. Therefore, revenue generated by products in
Charlie category = 2 + 4 + 6 = 12 units. (Assuming area of a square to be 1 unit)

In this case product 2 and product n are from Bravo.Ther'efore, revenue generated by products in Bravo category = 6 + 9 = 15 units.
We can see that products from Charlie have a-higher.reyenue than Bravo. Hence, this case in not possible.

Therefore, we can say that Product 1 |s from Bravo and Product 2 is from Charlie. We have determined each product's company name in
Blockbuster category.

(B) No-hope category: We haye-twovintor‘rhatiOn regarding No-hope category.

(1) Charlie had more products than Bravo but fewer products than Alfa in the No-hope category. Bravo and Charlie had the same revenue
from products in the No-hope category.There are a total of 6 products in no-hope category.

Therefore, we can say that Alfa, Charlie and Bravo have 3, 2 and 1 products in No-hope category in that order.

I :
: g -8
- B
A 7 ! Ed
a
No - hope o
3 PR 1owa
totdg
0 2 4 6 8 1
Product
CAAita Ean

Bravo and Charlie had the same revenue from products in the No-hope category

Revenue generated for Bravo in the No-hope category = 4 units. We need/ same revenue/for Charlle which ha s 2 products in this category.
Hence, we can say that Product 10 and one of product 8 and 9 is from Charlle and other is from Alfa Let's assume that product 8 is from
Charlie and product 9 is from Alfa. /

(C) Doubtful category: We have two information regarding Doubtful category ‘
(1). Charlie did not have any product in the Doubtful category, while Alfa had one product more than Bravo in this category .
(2). Bravo had a higher revenue than Alfa from products in the Doubtful category >

We can see that there are a total of 7 products in this category. Hence we can say that 4 products are from Alfa and 3 products are from
Bravo.
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Doubtful

We can see that one of product 14,15 and 1

Iotential

20
I G
:" i
14
1ot
T

6 is from Bravo company and others are from Alfa company. Bravo will have higher revenue

than Alfa only when product no. 14 is from Bravo and others (15 and 16) are from Alfa category.

In this case total revenue by Brdvo = Product 14 + Product 19 + Product20=9+6+2=17

Similarly, total revenue by Charlie = Product 15 + Product 16 + Product 17 + Product 18 =6 +1+1+4=12

(D) Promising category: We have onlyl.direct information regarding Promising category.

1. Each company had an‘equal number of products in the Promising category.

[y

22

i

y de=
o

There are a total of 3 products in promising category with different revenue. Therefore, we can say that each company had 1 product in
promising category. We are given that Alfa and Charlie had the same total revenue eonsidering all products. We can calculate the revenue

| Promising

generated by Alfa and Charlie from the products in categories.

Doubtful

No - hope

Market |Iotential

20 T
n) S
18 % Promising
16 % | 4ot
14 E .
----- L TA o 1
i =
= A m ]II
i [ .
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j=//maelis_ usam}
5 i
| Blockbuster
2 Eareg=) i
L= »
o 2 4 6 & % & u 18 2
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Revenue generated by Charlie from all categories except Promising = From Blockbuster + From No-hope + From Doubtful

= (9+6+2) + (3+1) + (0) = 21 units

Revenue generated by Alfa from all.categories except Promising = From Blockbuster + From No-hope + From Doubtful
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= (6+3) + (4+2+1) + (1+6+4+1) = 28 Units

We can see the difference between revenue generated by Charlie and Alfa from remaining categories is 7 units. Hence, we can say that
Charlie's product's revenue should be 7-units more than Alfa's product's revenue in Promising category. That is possible only in one case
where product 22 is fram Charlie and product 21 is form Alfa. Consequently, we can say that product 23 is from Bravo. Now we have
identified each produgts'company name we can answer all the questions.

A r W [
18 -R ry i
Doubtful = 9//% E e
160—HAH—— A —
14 A : L@
e = =
—2 40 1 =
3 A
5 8 1 : 4 A ]II
No - hope | ! Blockbuster
o[- B B e

0 2 4 6 8 1 12 14 16 18 20
Product’popularity

Aifa Eravn I]I[Ithaﬂie
Total revenue generated by Bravo products alone = From Blockbuster + From:No-hope + From Doubtful + From Promising
= (6+4) + (4) + (9+6+2) + (3) = 34 units

One box is equivalent to Rs. 1 crore therefore, we can say that total revénué generated by Bravo = Rs. 34 crores. Hence, option C is the
correct answer.

Instructions

Seven candidates, Akil, Balaram, Chitra, Divya, Erina;Fatima;and Ganeshan, were invited to interview for a position. Candidates were
required to reach the venue before 8 am. Immediately-upon arrival, they were sent to one of three interview rooms: 101, 102, and 103. The
following venue log shows the arrival times for these candidates, Some of the names have not been recorded in the log and have been
marked as ‘?".

Time | 710 AM|7:15 AM | 7:25 AM | 7-30 AM| 7:40 AM | 7-45 AM
Person| Akil ? ? ? Chitra | Fatima ?

Additionally here are some statements from the candidates:

Balaram: | was the third person to enter Room 101.

Chitra: | was the last person to enter the.room | was allotted to.

Erina: | was the only person injthe room 'was.allotted to.

Fatima: Three people including Akhil were already in the room that | was allotted to when | entered it.
Ganeshan : | was one among the two'candidates allotted to Room 102.

Question 59

What best can be said.about the room to which Divya was allotted?

A Definitely Room 101
B Definitely Room 103

C Definitely Room 102
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D Either Room 101 or Room 102

Answer: A

Explanation:

It is given that there were a total of 3 rooms and seven candidates. Ganeshan said that he. was;one among the two candidates allotted to
Room 102 whereas Erina said that she is the only person in the room she was allotted t0- Therefare, we can say that there were 1 and 4
candidates in either 101 or 103 room. But it is given that Balaram was the third person to enter in the Room 101 therefore we can say that
there were 4 candidates in Room 101 and only 1 candidate in room 103.

Room no.|Candidates Name
101 4
102 2
103 1

Fatima said that three people including Akhil were already in the room that | was'allotted to when | entered it. Hence, we can say that
Fatima was the last person to enter in 101 and Akhil is the first person'who entered in room 101.

Chitra said that she was the last person to enter the room she was allottedto. Hence, we can say that Chitra was allotted room no 102
and she entered after Ganeshan.

Erina was the only person in room no 103.

Room no.| Candidates Name (In sequential order)
101 4 Akhil, ; , Fatima
102 2 Ganeshan, Chitra
103 1 Erina

Balaram said he was third to enter room no 1071. Hence, we can say that Divya was second person who entered in room 101.

Since Chitra and Fatima were already in by 7;40 AM we can say that the candidate who entered at 7:45 am is Erina.

Room no.| Candidates Name (In sequential order)
101 4 Akhil{7:10), Divya, Balaram, Fatima(7:40)
102 2 Ganeshan, Chitra(7:30)
103 1 Erina(7:45)

From the table we can see that Divya was allotted room no 101. Hence, option A is the correct answer.

Quantitative’ Aptitude for CAT Questions (download pdf)

Question 60

Who else was in Room-102 when Ganeshan entered?

A Akil
B Divya
C Chitra

D Noone

Answer: D

Explanation:

It is given that there were a total of 3 rooms and seven candidates. Ganeshan said that he was one among the two candidates allotted to
Room 102 whereas Erina said that she is the only person in the room she was allotted to. Therefore, we can say that there were 1 and 4
candidates in either 107 or 103 room. But it is given that Balaram was thé third person to-enteriin,the Room 101 therefore we can say that
there were 4 candidates in Room 101 and only 1 candidate in room 103;

Room no.|Candidates Name
101 4
102 2
103 1

Fatima said that three people including Akhil were already in the room that | was allotted to when | entered it. Hence, we can say that
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Fatima was the last person to enter in 101 and Akhil is the first person.who entered in room 1071.

Chitra said that she was the last person to enter the room she was allotted to:.Hence, we can say that Chitra was allotted room no 102

and she entered after Ganeshan.

Erina was the only person in room no 103.

Room no.| Candidates Name (In sequential order)
101 4 Akhil, , , Fatima
102 2 Ganeshan, Chitra
103 1 Erina

Balaram said he was third to enter room no 101. Hence, we can'say that Divya was second person who entered in room 101.

Since Chitra and Fatima were already in by 740 AM we can say that the candidate who entered at 7:45 am is Erina.

Room no.| Candidates Name (In sequential order)
101 4 Akhil(7:10), Divya, Balaram, Fatima(7:40)
102 2 Ganeshan, Chitra(7:30)
103 1 Erina(7:45)

From the table we can see that:Ganeshan:is the first person to enter in room 102.Hence, option D is the correct answer.

Question 61

When did Erina reach the venue?

A 7:45am

B 7:25am

C 7:15am

D 7:10am

Answer: A

Explanation:

It is given that there were a total of 3 rooms and seven candidates. Ganeshan said that he was one among the two candidates allotted to
Room 102 whereas Erina said that she is the only person in the room she was allotted to. Therefore, we can say that there were 1 and 4
candidates in either 107 or 103 room. But it is given that Balaram was the third person to enter in the Room 101 therefore we can say that
there were 4 candidates in Room 101 and only 1 candidate in room 103.

Room no.|Candidates Name
101 4
102 2
103 1

Fatima said that three people including Akhil were already in the room/that | was alletted to when | entered it. Hence, we can say that
Fatima was the last person to enter in 101 and Akhil is the first person who entered in room 1071.

Chitra said that she was the last person to enter the room she was allotted'to. Hence, we can say that Chitra was allotted room no 102

and she entered after Ganeshan.

Erina was the only person in room no 103.

Room no.| Candidates Name (In sequential order)
101 4 Akhil, , , Fatima
102 2 Ganeshan, Chitra
103 1 Erina

Balaram said he was third to enter room no 101. Hence, we can say that Divya was second person who entered in room 101.

Since Chitra and Fatima were already in by 7:40 AM we can say that-the candidate who entered at 7:45 am is Erina.
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Room no.| Candidates Name (In sequential order)
101 4 Akhil(7:10), Divya, Balaram, Fatima(7:40)
102 2 Ganeshan, Chitra(7:30)
103 1 Erina(7:45)

From the table we can see that Erina feached-the venue at 7:45 am. Hence, option A is the correct answer.
Question 62

If Ganeshan entered the venue before Divya, when did Balaram enter the venue?

A 7:25am
B 7:10am
C 7:15am

D 7:45am

Answer: A

Explanation:

It is given that there were a total of 3 rooms and seven candidates. Ganeshan said that he was one among the two candidates allotted to
Room 102 whereas Erina said that she is the only person in the room she was allotted to. Therefore, we can say that there were 1 and 4
candidates in either 107 or 103 room. But it is given that Balaram was the third person to enter in the Room 101 therefore we can say that
there were 4 candidates in Room 101 and only 1 candidate in room 103.

Room no.|Candidates Name
101 4
102 2
103 1

Fatima said that three people including Akhil were already in the room that | was/alfotted to when | entered it. Hence, we can say that
Fatima was the last person to enter in 101 and Akhil is the first person who.entered in room 1071.

Chitra said that she was the last person to enter the room she was allotted t0."Henee, we can say that Chitra was allotted room no 102

and she entered after Ganeshan.

Erina was the only person in room no 103.

Room no.| Candidates Name (In sequential order)
101 4 Akhil, , , Fatima
102 2 Ganeshan, Chitra
103 1 Erina

Balaram said he was third to enter room no 101. Hence,we can say that Divya was second person who entered in room 101.

Since Chitra and Fatima were already in by 7:40 AM we can say that the candidate who entered at 7:45 am is Erina.

Room no.| Candidates Name (In sequential order)
101 4 Akhil(7:10), Divya, Balaram, Fatima(7:40)
102 2 Ganeshan, Chitra(7:30)
103 1 Erina(7:45)

In the question it is given that Ganeshan entered the venue before Divya. Therefore, we can say that Ganesh must have entered with Akhil
at 7:10 am. In that case, Divya and Balaram must-have entered at 7:15 am and 7:25 am respectively. Hence, option A is the correct

answer.

Instructions

Top MBA Colleges

There are only four brands of entry level smartphones called Azra, Bysi, Cxqi, and Dipq in a country.
Details about their market share, unit selling price, and profitability (defined as the profit as a percentage of the revenue) for the year
2016 are given in the table below:
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Brand M""“;;_f""“’ ”Ij'r'i‘{:‘*[::'a:‘;] Profitability (%)
Aura 40 15,000 10
Bysi 25 20,000 30
Cxqi 15 30.000 40
Dipq 20 25.000 30

In 2017, sales volume of entry level smartphones grew by 40% as compared to that in 2016. Cxqi offered a 40% discount on its unit
selling price in 2017, which resulted in a 15% increase in its market share. Each of the other three brands lost 5% market share. However,
the profitability of Cxgi came down to half of its value in 2016. The unit selling pnces of the other three brands and their profitability
values remained the same in 2017 as they were in 2016.

Question 63

The brand that had the highest revenue in 2016 is:

A Cxqi
B Bysi
C Azra

D Dipq

Answer: C

Explanation:
Let '100x' be the number of smartphones sold in year 2016.

Total revenue generated by Azra = 40x*15000 = Rs. 600Q00x

Total revenue generated by Bysi = 25x*20000°=.Rs. 500000x

Total revenue generated by Cxqgi = 15x*30000 = Rsi-A§0000xI =

Total revenue generated by Dipq = 20x*25000 = Rs. 50(‘1‘000.x'f .

We can see that revenue generated by Azra ig’the highest amoné all four brands. Hence, option C is the correct answer.
Question 64 i/

The brand that had the highest profit in 20_16 is:

A Bysi
B Dipq
C Cxqi

D Azra

Answer: C

Explanation:
Let "100x' be the number of smartphones sold in year 2016.

Total revenue generated by Azra = 40x*15000 = Rs. 600000x
‘\.‘ \ 10
Profitability is'defined as'the profit as a percentage of the revenue. Therefore, profit generated by Azra = 100*600000x = Rs. 60000x

Total revenue generated by Bysi = 25x*20000 = Rs. 500000x

30
Profit generated by Bysi = 100*500000x = Rs. 150000x

Total revenue generated by Cxqgi = 15x*30000 = Rs. 450000x

40
Profit generated by Cxqi = 100*450000x = Rs. 180000x
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Total revenue generated by Dipg = 20x*25000 = Rs. 500000x

30
Profit generated by Dipg = 100*500000x = Rs. 150000x

We can see that profit generated by Cxgqi is the highest among all four brands.'Hénce, option C is the correct answer.
Question 65

The brand that had the highest profit in 2017 is:

A Bysi
B Azra
C Cxaqi

D Dipq

Answer: A

Explanation:
Let "100x' be the number of smartphones sald in year 2016. Then the number of smartphones sold in 2017 = 1.4*100x = 140x

It is given that Cxqi offered a 40% discount'on, its-unit'selling price in 2017 i.e. selling price in 2017 = 0.6*30000 = Rs. 18000

Also Cxqi's merket share increased by 15% whereas the other three brands lost 5% market share.

Brand |Maket Share (%)| Mo of units | Unit Selling Price (Rs.) | Profitibility(%)
Azra 35 49x 15,000 10
Bysi 20 28x 20,000 30
Cxqi 30 42x 18,000 20
Dipq 15 21x 25,000 30
10
Amount of profit gerferated by Azra = 100*15000*49x = 73500x
: : 30
Amount of profit,generated by Bysi = 100*20000*28x = 168000x
20
Amount of profit generated by Cxqi = 100*18000*42x = 151200x
30

Amount of profit generated by Dipg = 100*25000*21x = 157500x

We can see that brand Bysi generated maximum profit in year 2017. Hence, option A is the correct answer.

Join MBA Telegram Group

Question 66

The complete list of brands whose profits went up in 2017 from 2016 is: |

>

Azra, Bysi, Dipq

B Cxqi, Azra, Dipq

(¢}

Azra, Bysi, Cxqi
D Bysi, Cxqi, Dipq

Answer: A

Explanation:
Let "100x' be the number of smartphones sold in year 2016.

Total revenue generated by Azra = 40x*15000 = Rs. 600000x
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B | , 10
Profitability is defined as the profit as a percentagé of the. reve'nue. Therefore, profit generated by Azra = 100*600000x = Rs. 60000x
Total revenue generated by Bysi = 25x*20000 = Rs. 500000x :
30

Profit generated by Bysi = 100*500000x.;-Rs. 150000x
Total revenue generated by Cxqi = 15x*30'(l(50‘= Rs. 450(_)00x
40 S—
Profit generated by Cxqi = 100*450000x = Rs. 180000x
Total revenue generated by Dia'; 205&{‘25900; Rs. 500000x
Profit generated by Dipg = 100 *SObOO_Ox #Rs. 150000x
It is given that the market sales increased by 40%. Therefore, the number of smartphones sold in 2017 = 1.4*100x = 140x
It is given that Cxqi off_e_red a 40% discount on its unit selling price in 2017 i.e. selling price in 2017 = 0.6*30000 = Rs. 18000

Also Cxgi's merket share iﬁé‘rela'sed by 15% whereas the other three brands lost 5% market share.

Brand |Maket Share (%)| Mo of units | Unit Selling Price (Rs.) | Profitibility({%)
Azra 35 49x 15,000 10
Bysi 20 28x 20,000 30
Cxqi 30 A2 18,000 20
Dipq 15 21x 25,000 30
10
Amount of profit generated by Azra = 100*15000*49x = 73500x
30
Amount of profit generated by Bysi = 100*20000*28x = 168000x
20
Amount of profit generated by Cxqi = 100*18000*42x = 151200x
30

Amount of profit generated by Dipq = 100*25000*21x = 157500x

We can see that profit of brands Azra, Bysi and Dipq increased in the y'ear‘ 2017 a‘é -comﬁ\ared to0 2016. Hence, option A is the correct

answer.

Enroll for Excellent CAT/M-BA courses

Quantitative Aptitude
Instructions O ‘
For the following questions answer them individually

Question 67

A water tank has inlets of two types A and B:All inlets of type A when open, bring in water at the same rate. All inlets of type B, when
open, bring in water at the same rate. The emptytank is completelyfilled in 30 minutes if 10 inlets of type A and 45 inlets of type B are
open, and in 1 hour if 8 inlets of type A and 18 inlets.of type B are open. In how many minutes will the empty tank get completely filled
if 7 inlets of type A and 27 inlets of type B are open? R

Answer:48

Explanation: /]
Let the efficiency of type A pipe be 'a' and the__efficiency.df type Bbe'b'.
In the first case, 10 type A and 45 type B pipes fillthe tank in 30 mins.

1

So, the capacity of the tank = 2(10a#45b)........ 0]

In the second case, 8 type A a'hd 18 ‘tj'/,pé‘B pipes fill the tank in 1 hour.
So, the capacity of the tank = (8a + 18b)........ L(if)
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Equating (i) and (ii), we get &
10a +45b =16a+36b [/
=>6a=9b r\\'\\
From (ii), capacity of t

t

In the third case, 7 type A a

Net efficiency = (7a + 27b) = (7a
2 V)

P&

Y
fSa hour = 48 minutes.

= (8a+18b) = (8a + 12a) = 20a
pe B pipes fill the tank.
18a) = 25a

Time taken

]
Hence, 48 i

the correct answer.
Cracku CAT Success Stories
Question 68

Let f(x)= max(5z, 52 — 2x2), where x is any positive real number. Then the minim@m possible value of (x)

Answer:20

y

Explanation: (
The minimum value of the function will occur when the expressions inside the f ction>3 e ;
So, 5z = 52 — 2z° pal
or, 222 + 5z — 52=0

5 /\iQ
On solving, we get x =4 or — 2

But, it is given that x is a positive number.

So,z=4 Q\
And the minimum value = 5*4 = 20
Hence, 20 is the correct answer. X7

Question 69 \

Points A, P, Q and B lie on the same line such that P, Q and B are, reé“p vely, 100 km, 200 km and 300 km away from A. Cars 1 and 2

leave A at the same time and move towards B. Simultaneously, car 3 leaves B and moves towards A. Car 3 meets car 1 at Q, and car 2
at P. If each car is moving in uniform speed then the ratio of the speed of car 2 to that of car 1 is

2 4
N\E\f"

C 1:2 <
D 1:4 \\.____,j
Answer: D o
T,
Explanation: a2 :::x

J B
Car3meetscar1atQ, which,l'_i§(200/§‘n from-Al
Therefore, at the time of their meeti Qcar 1/must have travelled 200 km and car 3 must have travelled 100 km.
As the time is same, ratio of speed éar‘{ ospeedofcar3=2:1.

e

Car 3 meets car 2 at P,Which is 100 km from A.
Therefore, at the tim ‘f"tlgeir meeting car 2 must have travelled 100 km and car 3 must have travelled 200 km.
As the time is same,%&d\f&p\eed of car2to speedof car3=1:2.

e \.\
Speed of car 1 : speed of car 32241

And speed of/c‘;?r 2:speedofcar3=1:2

So, speed of/car 1 : speed of car 2 : speed of car3=4:1:2

Hence, opti n(P is\th_eyéfét answer.
Question 70

The smallest integer n such that n3 — 11n2 + 32n — 28 > O'is
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Answer:8

Explanation:
We can seethatatn =2, n3 — 11n? + 32n — 28 = Oi.e. (n-2) is a factef of n® - 11 —28
n® — 11n% + 32n — 28
n—2 =n?2—-9n+14
We can further factorize n*2-9n+14 as (n-2)(n-7). Q
n® —11n? +32n — 28 = (n — 2)%2(n — 7)

=n3—11n2+32n—28 >0

=m-22%n-7 >0
Therefore, we can say that n-7>0 \
Hence, nmin = 8

Subscribe to (MBA Exams Youtube Channel
Question 71

The scores of Amal and Bimal in an examination are

their new scores are in the ratio 47 : 56. The ratio of Bima

A 4:3
B 8:5

D 3:2 { =
Answer: A

O
Explanation: j

Let the score of Amal and Bimal be 11k and 14k

Let the scores be in sed by x
So, after increment, Amat re = 11k + x and Bimal's score = 14k + x
According to the question,

11k + x 47? by
14k + x =ff

42 p
On solving, we ett/gk//r

Ratio of Bimal's'new e to his original score

atio 11 : 14. After an appeal, their scores increase by the same amount and
score to that of his original score is

14k + x
= 14k
]_4]{: + 42k
9
= 14k ////
168k
- 14*%9k

4 @
29
=3
Hence, option A is the correct answer. A ()
g \t

Question 72 < 3

How many two-digit numbers, with a non-zero digit in the units plfe, are there'which are more than thrice the number formed by
interchanging the positions of its digits? 1\\\
N
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Answer:6

Explanation:
Let 'ab’ be the two digit number. Where b £ 0.

\
|

We will get number 'ba’ after interchanging its_rdigit.

It is given that 10a+b > 3*(10b + a) ~5

7a>29b
Ifb=1,thena={5,6,7, 8,9}

‘J‘ 4
{4

If b=2,thena={9}

If b = 3, then no value of 'a' is possible. Hehég, we can say-’ihat there are a total of 6 such numbers.

Question 73

For two sets A and B, let AAB denp_te the set of elements which belong to A or B but not both. If P = {1,2,3,4}, Q ={2,3,5,6,}, R =
{1,3,7,8,9}, S = {2,4,9,10}, thenr_jd'r\,enu@ber_ of elements in (PAQ)A(RAS) is

Answer:7

Explanation: £

P={1,234}and Q={235,6}
PAQ={1,4,56

R={1,37,89}and S = {249,710}
RAS={1,2,3,4,7,8,10)
(PAQ)A(RAS) =12, 3,5,6,7,8,10}

Thus, there afé 7 elements in (PAQ)A(RAS) .
hence, 7 is the correct answer.

LN

Gl o

~ Join CAT 2022 Online Coaching

Question 74

A parallelogram ABCD has area 48 sqcm. If the length of CD is 8 cm and that of AD is s cm, then which one of the following is

necessarily true? V|

C 5<s<7 /
/
D s<6
Answer: B
Explanation: RN
sy
A \‘ \ "
Scm D O )]
- Sy /]
‘\\ - ~'//"‘
\\ >
"\
\\\
.
, A
s, 8cm
. N
‘\\ W= -
\\ A 1
. 2N
\\\ ™~
LY

We can see that area of parallelogram ABCD = 2*Area of ftriangle ACD

48 = 2*Area of triangle ACD &
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Area of triangle ACD = 24 =
(1/2) « CD « DA x sinADC =-24
AD % sinADC = 6 ‘(h/\ >

(.
We know that sinf < 1, Hence, we ﬁén\fi}’/’ atAD > 6

=s>6 -
W
\‘\
A 20% ethanol solution lixed with another ethanol solution, say, S of unknown concentration in the proportion 1:3 by volume. This
mixture is then mixed with ah‘e@?l volume of 20% ethanol solution. If the resultant mixture is a 31.25% ethanol solution, then the

unknown congp/gtration of Sis
£/

Question 75

A 30% (( 1
\
B 40% =

C 50%
D 60%
y’

Answer: C
Explanation: /;'Zl\
Let the volume of the first and the second solution be 100 and 300. (
When they are mixed, quantity of ethanol in the mixture g
= (20 + 300S) / =
Let this solution be mixed with equal volume i.e. 400 of third solution in which thg’; of ethanol is 20%.

So, the quantity of ethanol in the final solution /\
= (20 + 300S + 80) = (300S + 100) ’

N

N

It is given that, 31.25% of 800 = (300S + 100) \5
or, 300S + 100 = 250
1
orS=2=50% Q\\
.
Hence, 50 is the correct answer. \

Question 76 £

In a tournament, there are 43 junior level and 51 senior level participants: Each pair of juniors play one match. Each pair of seniors play
one match. There is no junior versus senior match. The number of girl versus girl matches in junior level is 153, while the number of

boy versus boy matches in senior level is 276. The nmi\e:‘@;s a boy plays against a girl is
A <

Answer:1098

Explanation:
In a tournament, there are 43 junior level an senior level participants.

Let 'n' be the number of girls on junior lev .;’It is given that the number of girl versus girl matches in junior level is 153.
= nC2=153
= n(n-1)/2 =153 =
= n(n-1) = 306
2 //A/x\
=>n2-n-306 = 0 L( //f‘\ .y
=> (n+17)(n-18)=0 d
=>n=18 (rejecting n=-17) &
Therefore, number of p{(s on junior level = 43 -18 = 25.
Let 'm' be the number of-boys on senior level. It is given that the number of boy versus boy matches in senior level is 276.

= mC2 =276 ¥
A

= m=24 (//
5]
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Therefore, number of girls/on senior level = 51 - 24 = 27.

Hence, the number of matches a boy plays against a girl = 18*25+24*27 = 1098

Take 3 Free CAT Mocks (With Solutions)

Question 77

A chord of length 5 cm subtends an angle of 60° at the centre of a circle. The léngth, in cm, of a chord that subtends an angle of 120° at
the centre of the same circle is

5V3

>

B 27

D 6V2

Answer: A

Explanation:

We are given that AB = 5 cm and”/ AGB =60°
Let us draw OM such that OM-'L AB.

In right angle triangle AMO,

AM
sin30° = AO

= AO = 2*AM = 2*2.5 = 5 cm..Therefore, we can say that the radius of the circle = 5 cm.

Z

60°
Pwa

In right angle triangle PNO,
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g 9
sin60° = PO
V3 5v3

=PN= 2 *PO= 2

Therefore, PQ = 2*PN = 5v/3 cm
Question 78

Let a1, az2...a52 be positive integers such that a1 < a2 < ... < as52 . Suppose, their arithmetic mean is one less than arithmetic mean of
az, as, ....as2. If as2= 100, then the largest possible value of aiis

A 48

B 20

C 23

D 45

Answer: C

Explanation:

Let 'x' be the average of all 52 ai, a2...as2 .

a1+ a2+ a3+ ...+ as2=52x...

2=51(x+1) ... (2)
From equation (1) and an say that
a1+ 51(x + 1) = 52x
a1 =x-51.

We have to find out the largest possible value of a1. a1 will be maximum when 'x' is maximum.

s a2, a3, ....a52. We know that a2 < a3 < ... < a52 and as2 = 100.
Therefore, (x+1) will be maximum when each term is maximum possible. If as2 =100, then as2 = 99, as0 = 98 ends so on.
a2 =100 + (51-1)*(-1) = 50.
Hence, a2 4+ a3 + a4 + ... + a52 = 50+51+...499+100 = 51(x+1)
51 % (50 4 100)

= 2 = 51(z + 1)

s s O
Therefore, the largest possible value of a1 = x-51 =74 -51 = 23. =
Question 79

The value of the sum7 x11+11x15+15x19+..+95x 99 is /\

Answer:80707 K

Explanation:

S=7x11T+11x15+15x19+..+95x99
Nth term of the series can be written as T = (4n + 3) * (4n

Last term, (4n+3) =95i.e.n=23

n=23
Sn=1 (4n +3) * (4n +7)

=23
= Sao1 1602 + 40n + 21 \
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23 x 24 x 47 23 x 24 \"‘\7
=16 * 6 + 40 * 2 + 21 23

/
= 80707 {

W,

CA\ fous papers (download pdf)

Question 80

If N and x are positive |ntege@]\f 2160 and N2 + 2V is an integral multiple of 27, then the largest possible x is
Answer:10

Explanation:

It is given that NV =

We can rewrite the equatlon\\(N (25)160/5 = 3232

=>N=32 O

’f u

N? + 2N 24232 = 2}0 + 232 = 210 % (1 + 222)

Hence, we CWN/’—F 2N can be divided by 210
Therefore, Xmaz =

Question 81

A tank is emptied everyday at a fixed time point. Inmediately thereafter, either pump A or pump B or both start working until the tank is
full. On Monday, A alone completed filling the tank at 8 pm. On Tuesday, B alone completed filling the tank at 6 pm. On Wednesday, A

alone worked till 5 pm, and then B worked alone from 5 pm to 7 pm, to fill the t t what time was the tank filled on Thursday if both
pumps were used simultaneously all along?

A 4:48pm (
=

B 4:12pm

C 424pm /\\i@

D 4:36 pm

Answer: C Q\

Explanation:

Let 't' pm be the time when the tank is emptied everyday. Let We the/liters/hr filled by pump A and pump B respectively.
On Monday, A alone completed filling the tank at 8 pm. Therefore, we y that pump A worked for (8 - t) hours. Hence, the volume of
the tank = a*(8 - 1) liters.

Similarly, on Tuesday, B alone completed ﬁll'%the tanl\t 6 pm. Therefore, we can say that pump B worked for (6 - t) hours. Hence, the

volume of the tank = b*(6 - 1) liters.

On Wednesday, A alone worked till 5 pm, and then B w
worked for (5 - t) hours and pump B worked for 2 hours. He

lone from 5 pm to 7 pm, to fill the tank. Therefore, we can say that pump A
he volume of the tank = a*(5 - t)+2b liters.

We can say that a*(8-1) = b*(6-t) = a*(5

a*(8-t)=a*(5-t)+2b
=3a=2b ..(1) \ /
a*(8-t) = b*(6-t)

Using equation (1), we can say thh
3a f“\ S

ax(8—t)= 2 *(6— \)‘
t=2 ~
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|

Therefore, we can s at the tank gets emptied at 2 pm daily. We can see that A takes 6 hours and pump B takes 4 hours alone.

Hence, working together b ‘}an‘fill the tank in = \dfrac{6*4}{6+4} = 2.4 hours or 2 hours and 24 minutes.
s
The pumps stgjjt/ed filling the tank at 2:00 pm. Hence, the tank will be filled by 4:24 pm.

£
Question 8

The arithmetic mean ofy{lr’land zis 80, and that of x, y, z, u and v is 75, where u=(x+y)/2 and v=(y+z)/2. If x = z, then the minimum
possible va?&e@ g /

——

Answer:105

Explanation:

Given that the arithmetic mean of x, y and z is 80. y

r+yt+=z

= 3 =80 /,.f

=z+y+2z=240 ...(1) (U
rt+yt+z+vt+u /_).‘__//

Also, 5 =175

yos
r+y+z+v+u /\¥ Q
= 5 =175

sz+y+z+v+u=375 \
Substituting values from equation (1), ~

It is given that u=(x+y)/2 and v=(y+z)/2.

=(z+y)/2+(y+2)/2=135 y

=z+2y+z =270 Q \\%

=y =30 (Since x + y + z = 240) \ —

Therefore, we can say that z + z = 240 — y = 210. We g&}o giventhat x = z,

Hence, Tmin =210/2 = 105. 4
(
Free CAT Preparation Video Lectures

Question 83 =

Points A and B are 150 km apart./Cask‘lh:?d 2 travel from A to B, but car 2 starts from A when car 1 is already 20 km away from A. Each
car travels at a speed of 100 ki the first 50 km, at 50 kmph for the next 50 km, and at 25 kmph for the last 50 km. The distance,
v b

in km, between car 2 and B when ca /1‘@3 \és B is

Answer:5 v

Explanation:
1
Time taken to cover fir 0\%1 00 km/hr= 2 hr.
.at 50 km/hr =1 hr.

Time taken to caver last 50 km at 25 km/hr = 2 hr.
When car 2 st’ér‘[/s, car 1 has already covered 20 km.

12 min = 3 hr'18 min

A (50 + 50 + 45) = 145 km
Distance from B = -145) km = 5 km
Hence, 5 is the correct answer.
Question 84

If the sum of squares of two numbers is 97, then which one of the following c%e their product?
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C 48

Answer: D
Explanation:
Let 'a' and 'b' are those two numbers.
=a?+b> =97
= a?+b? — 2ab = 97 — 2ab
= (a —b)? =97 — 2ab
We know that (a — b)2 >0
= 97-2ab >0

= ab <485

Hence, ab # 64. Therefore, option D is the,
Question 85

The area of a rectangle and the square of i re in the ratio 1 : 25. Then the lengths of the shorter and longer sides of the

rectangle are in the ratio

A 14
B 29
C 13

D 38

Answer: A

Explanation:

Perimeter of the le = 2*(a+b)

axb 1
= (2x(a+b))? =25
= 25ab = 4(a + b)?
=4a? — 17ab+ 46> =0
= (4a — b)(a — 4b) =0

b
=a —=4bor 4

b
We initially assumed that a > b, therefore a £ 4.

Hence, a = 4b

=b:a=1:4
Free CAT Ei@frep ation App
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Question 86

On a triangle ABC, a circle with diameter BC is drawn, intersecting AB and AC at points P and Q, respectively. If the lengths of AB, AC,
and CP are 30 cm, 25 cm, and 20 cm respectively, then|the length of BQ, in cm, is

Answer:24

Explanation:
Let us draw the diagram according to the available information.

We can see thattriangle BPC and BQC are inscribed inside a semicircle. Hence, we can say that
/ BPC = /BQC=90°
Therefore, we can say thatBQ L ACand CP L AB.
In triangle ABC,
Area of triangle = (1/2)*Base*Height = (1/2)*AB*CP = (1/2)*AC*BQ
ABxCP 30x%20
=BQ= AC = 25 =24cm.
Question 87

A triangle ABC has area 32 sq units and its side BC, of length 8 units, lies 6n the line x = 4. Then the shortest possible distance between
A and the point (0,0) is

A 8 units
B 4 units
C 22 units

D 4v2 units
Answer: B

Explanation:
We know that area of the triangle = 32 sq. units, BC = 8Units

Therefore, the height of the perpendicular drawn-from pqint A to BC = 2*32/8 = 8 units.

Let us draw a possible diagram of the given triangle:
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We can see that if A coincide with (-4, 0) then the distance between A and (0, 0) = 4 units.

If we move the triangle up or down keeping the base BC on x = 4, then point A will.-hoye away from origin as vertical distance will come

into factor whereas horizontal distance will remain as 4 units.

Hence, we can say that minimum distance between A and origin (0, 0) =

Question 88

From a rectangle ABCD of area 768 sq cm, a semicircular part with diameter r sq cm is removed. The perimeter of the
leftover portion, in cm, is i Q

A 80+16m

B 86+8m Q\

C 88+12n
Q
D 82+24m \ -

Answer: C o
A
Explanation: % \
- :B__,_E::_'—j
Area of the semicircle with AB as a diameter = 2 % 7 )
g
1 AB?
=2%7m*x( 4 )=T2x%7 4>

= AB = 24cm \
Given that area of the rectangle ABCD = 76 E\cm«/'

= AB*BC =768
= BC=32cm
///"\
Q )
@7
W\
%
N
¥
Py
&
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A 32cm D

I
1
1
1
1 24 cm
1
1
1
|
1
1
1

We can see that the perimeter of the remaining shape = AD + DC + BC + Arc E)\'jw
= 3242443247 % 24 /2 C\

= 88 + 127 x

L
CAT Formulas _Jnload Now]

Question 89 A

\
If A={62" — 35n — 1}, where n = 1,2,3,... %B = {35{\ -1)}, where n = 1,2,3,... then which of the following is true?

\
A Every member of A is in B and at least one member W&%)t inA

B Neither every member of A is in B nor ev;e@ member of Bisin A

iy
C Every member of Bisin A. ’/
y \ /m
D At least one member of Ais notinB V
Answer: A
Explanation: / 2 f"\ >

If we carefully observe set A, Jelffen Wéfflnd that 62" 35n — 1is divisible by 35. So, set A contains multiples of 35. However, not all the

multiples of 35 are there in set A, fok&h%}i? values of n.

Forn = 1, the valueis 0, for n = 2,t lue is 1225 which is the 35th multiple of 3.

If we observe set B, it oo.ﬁsists of all the multiples of 35 including 0.

So, we can say that elefy:member of set A will be in B while every member of set B will not necessarily be in set A.
Hence, option A is tfi%rxe\\ nswer.

Question 90 P \\J

The smalles/t (nteger n for which 4” > 1719 holds, is closest to

A 37 &j ///”

B 35
C 33

D 39 /

Answer: D

~
Explanation: (//
4n > 1719 \
=162 > 1719
Therefore, we can say that n/2 > 19 i(
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n>38 \/)

Hence, option D is the correct answer. Q:\\
S

b
~

\\

‘H.?
A jar contains a mixture of 175 ml water and 700 ml alcohol.(ti?pal takes out 10% of the mixture and substitutes it by water of the
same amount. The process is repeated once again. The percenfage___ water'in the mixture is now

Question 91

A 303 Q \\
—
B 352 \ 4
C 254 ‘7
D 205
Answer: B /
Explanation: e
700 90
Final quantity of alcohol in the /xt_ure. 700 + 175 % (100)? * [700 + 175] = 567 ml
Therefore, final quantity of wamgr in 1266 mm) =875-567 =308 ml
308

Hence, we can say that the percentage\T ater in the mixture = 875 x 100=35.2%

\\

i . . .

\«\Iop-SOO Free CAT Questions (With Solutions)

Question 92 > 9

Ifaandb ar (ln’i:agers such that 222 —az + 2 > 0 and 22—bx + 8 > 0 for all real numbers z, then the largest possible value of
2a—6bis

Answer:36

Explanation:
Let f(x) = 222 —ax + 2. We can see that f(x) is a quadratic function.

For, f(x) > 0, Discriminant (D) < 0

=(-a)?—4%2x2<0

= (a-4)(at+4)<0 /
= ae(-4,4)

Therefore, integer values that 'a' can take = {-3,-2,-1,0, 1, 2, 3} /J
Let g(x) = x“—bx + 8. We can see that g(x) is also a quadratic func Q
For, g(x)=0, Discriminant (D) < 0

= (—b)?—-4%8%x1<0

= (b—v32)(b+V32) <0 \

=be (\/ﬁ \/3_2)

Therefore, integer values that 'b' can take = {-5, -4, -3, -2, -1, 0, &Zﬁ,\

We have to find out the largest possible value of 2a—6/b. The Iargest\possible value will occur when 'a' is maximum and 'b' is minimum.
amaz = 3, bmin = -5

Therefore, the largest possible value of 2a—6b = 6%(-

&
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Question 93

1 1 1 1 1 1
10g2100 — logs100 —+ logs100 — log10100 + 10g20100 — logg5100 -+ logs0100 =2

Answer: A

Explanation:

1 logza

We know that' logab = logzb

1 log102

Therefore, we ¢ at log2100 = log10100

1 1 1 1 1 1 1
= l0g2100 — 10g4100 + log5100 — 10g10100 —+ 10g20100 — log25100 + logs0100

log102  logiod  log105 log1010 log1020 log1025 log1050
= 10g10100-l0g10100 +log10100-10910100 +log10100-l0g10100 + log10100

We know that log10100 = 2
1
= 2 x [log102 — log104 + log105 — log1010 + log1020 — log1025/+ ldg1050

1 2 x5 %20 x50
= 2 x[logio 4%10%25 |
1

= 2 x [log1010]

1

= 2

Question 94

If p? = q* = 1% = s, then the value of logs(pqr) is equal to
a7

A 10

B %

Answer: A

Explanation:
Given that,p3 = q*=r"=s6
p3=sb
6
p=s®=s2 (1)
3

6
Similarly, g=s* =s? [.(2)

6
Similarly,r=s® ...(3
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vaIue of p, g, and r from equation (1), (2) and (3)

= logs(pqr)

By substitutin

= logs(s® Hs * 35)

= lOgs(SIOM
47

=10

Hence, option A is the correct answer.
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Question 95

There are two drums, each containing a mixture of paints A and B. In
and 2 are mixed in the ratio 3 : 4 and in this final mixture, A and B ar

A 251:163
B 239:161
C 220:149

D 229:141
Answer: B

Explanation:
It is given that indrum 1, A and B are in the r t|o~ 8:7.

\\,f

Let us assume that in drum 2, A and B are in the ré"ne iﬁ, et

ate ial
@;ll) atio 18 : 7. The mixtures from drums 1

io 13 :/7.Tn-drum 2, then A and B were in the ratio

It is given that drums 1 and 2 are mixed in the ratio 3: 4 GMMIS final mixture, A and B are in the ratio 13 : 7.

By equatlni; concentration of A /':>
8 T f/
3x18+7 +4xz+1 13 |\ /[7
= 3+4 =13+7 0o A
54 4z 91 .
=25+2+1 =20 =

4£E 239 Uf /,"/ A\
—z+1 =100 ( ))
| N
239 . N
D 239

.

.
Therefore, we can say that iﬁ“d%Z Aand B areintheratio 161 : 10r239:161.

Question 96 f &

Ramesh an
efficiency fellby 30%. As

A 145
B 11

C 135

{

~

anesh cant gether complete a work in 16 days. After seven days of working together, Ramesh got sick and his
Zresult they completed the work in 17 days instead of 16 days. If Ganesh had worked alone after Ramesh
got sick, in hbkaiyﬁyé would he have completed the remaining work?

A
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Answer: C

Explanation:

Let 'R"and 'G' be the amount of work that Ramesh and Ganesh can c?‘m lete in @

It is given that they can together complete a work in 16 days. Hence, tota%o 6(R+G) ... (1)

For first 7 days both of them worked together. From 8th day, Ramesh worked at 0 b of his original efficiency whereas Ganesh worked at
his original efficiency. It took them 17 days to finish the same WOTKC . Ramesh worked at 70% of his original efficiency for 10 days.

— 16(R+G) = 7(R+G)+10(0.7R+G) \\\

= 16(R+G) = 14R+17G 4\\J

=R=0.5G..(2)
Total amount of work left when Ramesh got sick = 16(R+\G -7(R+G) = 9(R+G) = 9(0.5+G) = 13.5G

\IMB -
|n| = =13.5 days.

Gopal borrows Rs. X from Ankit at 8% annual’jnterest He then adds Rs. Y of his own money and lends Rs. X+Y to Ishan at 10% annual
interest. At the end of the year, after retur i g Ankit's dues, the net interest retained by Gopal is the same as that accrued to Ankit. On
the other hand, had Gopal lent Rs. X+2Y tp Ishan at 10%ﬁhen the net interest retained by him would have increased by Rs. 150. If all
interests are compounded annually, then |W X+Y.

Therefore, time taken by Ganesh to complete th

Question 97

Answer:4000

Explanation: / A
AN 10
Amount of interest paid by Ishan to té{opal |f)1Fe/ borrowed amount is Rs. (X+Y) = 100 * (X + Y) = 0.1(X+Y)

Gopal also borrowed R%X from Anklt}t—B%/per annum. Therefore, he has to return Ankit Rs. 0.08X as the interest amount on borrowed
sum.

Hence, the interest retai éd\by gopal = 0.1(X+Y) - 0.08X = 0.02X + 0.1Y ... (1)
It is given that the net interes@i}ned by Gopal is the same as that accrued to Ankit.
Therefore, 0.08%= 0.02X +0.1Y
- (5/3)(((( @ p
\ 1/
A J/ 10
\\ 4

Amount of interest ald,b§ Ishan to Gopal if the borrowed amount is Rs. (X+2Y) = 100 * (X + 2Y') = 0.1X+0.2Y
In this case the amount of interest retained by Gopal = 0.1X+0.2Y - 0.08X = 0.02X + 0.2Y ... (3)

It is given that the interest retained by Gopal increased by Rs. 150 in the second case.

= (0.02X + 0.2Y) - (0.02X + 0.1Y) = 150 //'

p

= Y = Rs. 1500 /
By substituting value of Y in equation (2), we can say that X = Rs. 2500 / //f —

Daily Free CAT réti/

The strength of a salt solution is p% if 100 ml of the solution contains p grams\Qflalt If three salt solutions A, B, C are mixed in the
proportion 1 : 2 : 3, then the resulting solution has strength 20%. Iﬁnstead the proportion is 3 : 2 : 1, then the resulting solution has
strength 30%. A fourth solution, D, is produced by mixing B and C in the\?atlo 2 :7. The ratio of the strength of D to that of A is

A 3:10 = \ )

A
Downloaded from cracku.in
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g 1:3 Q‘ \\
\ 1
C 1:4 . 3
D 2:5
Answer: B
Explanation:
Let 'a', 'b" and 'c' be the concentration of salt A, B and C respectively.

It is given that three salt solutions A, B, C are mixed in the proportion 1 : 2 : 3, then the resulting solution has strength 20%.
a+2b+ 3c 7

= 1+2+3 =20 [ /

=a+2b+3c=120..(1) N/

If instead the proportiolﬁ?s 3:2:1,then the resulting solution has strength 30%.
|
3a+2b+c X\

= 14+2+3 =30 \\
:>3a—|—2b+, =180...(2)

From equatlf) 1) and (2), we can say that
=b+2c C[

=b= 45 -

Also, on subtracting (1) from (2), we get
a—c=30

=a=30+c

In solution D, B and C are mixed in the ratio 2 : 7

2b+Tc 90 —4c+T7c 90+ 3c /
So, the concentration of saltin D = 9 = 9 = 9 Q
90 + 3¢

90 + 3c
Requiredratio= 9a =9(80+¢)=1:3
Hence, option B is the correct answer. Q

Question 99

is 350 km west of A. One car starts from A and another from B
T hour. If they both move towards east, then they meet in 7 hrs.

On a long stretch of east-west road, A and B are two points such
at the same time. If they move towards each other, then they meet aft
The difference between their speeds, in km per hour, is

Answer:50

y
Explanation: \\

350 km

Let'a' and 'b' be the speed (in km/hr) of car starlr;ifryh both A and B respectively.
If they both move in east direction, then B donlyifb>a.
Relative speed of both the cars when they move in east direction = (b - a) km/hr

It takes them 7 hours to meet(e/m7 veI 350 km in 7 hours with a relative speed of (b-a) km/hr.
/
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350 h ( | )
Hence, (b-a)= 7 =50km/hr. " nd)/

Question 100 ((

A T

Let {1, t2,... be real I{ﬁ‘m‘bérs&__s__uch that t1 +t2 + ... + tn = 2n% 4+ 9n + 13, for every positive integer n > 2. If t; = 103, then k

equals S

Answer:24 /)
Y
[}

|

Explanation}, k'-
It is given thai\tl +i2 + + tn = 2n% 4 9n + 13, for every positive integer . > 2.

Wecansaythatts +t2 + ...+t = 2k> + 9k + 13 .. (1)
Replacing k by (k-1) we can say that
ti+te+...+th-1=2k—1)24+9k—-1)+13 .. (2 P

On subtracting equation (2) from equation (1) / /
—Str=2k2+9k+13— 2(k—1)2+9(k—1)+13 //
J 7 N
=103 = 4k+7 ) M ))
f / /, \ A // ‘./‘,
=k=24 :’ / | 4 2 R
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